BRI S

version




FEDKBEIRNBERAE, B—XoRERRGENNETU B, &ALt £76
ENHE—E, BEEImENERESHRAT L. ATEIARTF2008F, | EEIRIX5000%5F 75
K, L7 LA, AAREFARRI

RE—HERATNSRREERAI, BEENKARENE, RENRSKR. 235F7)
ANTligit. $SEHNRE, MBTFENLREEITHIEMMZ LohH T — ML E S 2 it
R—RB3CHRIEBMPERLEINAIREE.

TIRBELRLRFRT WAL EM(L, ARMEAMSIKRIHNEIGERQMNES, w:
HtRollomatic, ANCA, WALTERZFETIMN. EUM&Ei1&%E, ZEWALTER/Zoller&BhTIER
MY, BEKEYENCEBRARMBMEMN, TNEMRSMIXELKRE (BA&brother, HtMikron 5%
NI , H5HR—RIZEANBEELNSRARRFFEKASE

NREEERATNETUENZRER, ARELTERTVWREERIMEGR, KBEER
EEEERGIBI001C-2017iAE, 1S09001-2015A3F, KSGSHINERI; ATZLFRE:
BREE. KEE. FERNHRHANETART, AR, FFEWHKD, VAR, Bk,
BI1, BT, BNET], BBk, BRANFAREFRFGNAEN;, TBNAT: MEMX,

3CHF, REEA, RETHMG, XN, ®&F, ETEMFCNCINITL,

BAHEREINTHRE




Company profile

Guangdong Daofu Precision Technology Co., Ltd. is a professional manufacturer
of high-precision carbide cutting tools, integrating R&D, design, and production is a
national high-tech enterprise that integrates manufacturing and sales and owns its
own brand. The company was founded in 2008, with a plant area of more than 5,000
square metersRice, Jiangsu, Jiangxi, Shenyang have subsidiaries and factories.

Based on the mission of "helping the development of China's precision machining" in
the field of precision metal processing, and adhering to the development concept of "
taking customers as the center, science and technology as the driving force, and quality
asthesurvival", the enterprise team hasimplemented the core values of "integrity: unity
of knowledge and practice, pragmatism: seeking truth from facts, innovation: pioneering
and enterprising, education: continuous learning"; Dao Fu company has been creating
more dream platforms for employees, improving the comprehensive level of employees,
and striving to make the core team of the enterprise go to the leading position in the
cutting toolindustry.

BAFEREMNTINLRE




MESE™

REAB A SRR FTHN £ I E Rt MY ES, W0 TROLLOMATIC, BAFIIFANCA,
EEWALTEREEIW. BUMAEIRE,EEZOLLERE BET) BN, B AKEYENCERB S F
HEMEN, ARG KLLE(FHEMikronE MM IR0, HABROTHERMIHL), H 51t
R—RIZEANBEMULNSRARRERFKBEEE.

ANCA% =% g
ANCA workshop

RollomaticX4 =%
ROLLOMATIC workshop

AR EREINTHRE




The company has a large number of the world's most advanced production equipment and
testing instruments, such as: Swiss rotomatic, Australia ANCA, Germany Walter and other
grinding machines, Dutch Hauser coating equipment, German zoller automatic tool detector,
Japanese KEYENCE super depth of field digital measuring instrument, tool product testing
laboratory (Mikron five axis machining center in Switzerland, browser machining
centerinJapan),and with the world Multinational enterprises with world-class technology and
research institutes of universities have maintained long-term cooperation.

WALTERZ |g]
Walter workshop

ZIE R fn M A 3 AR

Tool product application test center

BATERZEMINRE




FEFRD

coating center

n B A T 2 ) ROy

Quality inspection control center

mERFP®HEN
EXRESmhR &gﬁ

Pursue higherquality f

- o = EREEZ<] /A/ﬁ
< ——— Make products and services satisfactory to customers
' ﬁ Customer satisfaction =90 points

Product delivery qualification rate 100%
M e et C u Sto m e rn e e d S Delivery completion rate = 98%

Customer complaint=1time/month

X B
>9
10
=9

i!::
% ;
A

AR ERENTHNRE




A &
on

andqualificati

BMARERZEMNINRE




ISOTEEARER

ISOFT AR ER

Bl TiAicrsin [N
.

TIAICrSiN

AICrSiN

AICrN

TiAIN

MKERE

@ D OHERERE

55t

ot

1BERAEI

TUN 'B L5 i

B AICrN B
b

: L AICIN/TISING B -

BARERMERR

: '@ D200 BiEs

S

&

28° BIER

30° #EHER

40° BiER

45° B

BT

SIRHE TEEW

FEiEh m ek

................. T

R

1713471 m El2730E s

271518870

3734t T)

AT T

5T T]

6713L %t

AR EREINTHRE



TIRXEZPVDAKREEL

PVDREFEHIZH RKIRT (10nm~500nm) , AIRBRENEE. RFAkItae,
HEBMFRERRK.

EmEREBE (C)

1200

HESI
AITINGSK

AREESRSEREE

2000 2500 3000 3500 4000 FEE (HV)

AREESERRRK

TIAICrSIN

2000 2500 3000 3500 4000 FEE(HV)

BATEREINTHRE




EAICrSiN

BAMNL, USMETHINTEERAES .
ISR IHERREIME. PR SR EM . RRE X R e R T, N
ALCrSINFR B
fEE or & < EL

AERETE R

=ERETIAICISIN

EHEEERLA4000HY, BB RIFNMEME.
57, FEIEEIOONL Lo

BHEERRIT, RIESERESEAKEBERER
PAREEGFRRIT, AEBRNAA LN, AU IREESIXLL00°C, ZEREMIT.

AREEE S

A REAITIN

BHESBIRET RENIEENASLEE, o
BHIRE SRR RELEN, RS TREM, REREAEBERL. AlTINFRE

CHERaEERK

FREMERR

HBARENARE

BHEENARE, REEERIKEIBGPall L,
AERREIEERRMR.
EATIFSRM RN OAE.

BReT4E. WIBLTLE. BES

AREEEAS AERELH

HE T NG RE

Fis ol
BAESNERRE, REBEEAT 856Pa b L. =B
BIHESRIERRE &M, AERERNEEREHOHEL. BRAEEA

ERTARMI,

B EREINTNRRE




DF920

5= Ex3 i W T AR #5135 88 (e EEMIAE
2l
DF 300 FEEA | . B, ESEME ERE£AMA. BT 3 ?s?
M
TEW. WM. B $EF<52HRC %} 5 RS
Ha®
DF 600 HAT] REM. AW 1&EFA<60HRC 2 A5 8 deitrl
DF700 BEEAET] BENE EF<70HRCHBIEN 12
DF 800 15
DF 830 BEEE 20
DF 900 BEZEAS 25
DF 920 BMEhk RIBMIERERE 30

BAFE

ERIMIMAKRE




ot 7] M

1. D7I1&; 2. ZD#EERIERTIR, 3. ZRABEIRLFR,
4, TDRTTIR,; 5. DREEL7I1R; 6. JDERTITIRR;

7. CORLETIR7]#Z; 8. YD#ETITIF; 9. ARE,;

10. RERLFR/ER; 11, PEEKE, 12, CTIK;

13, SIRfE; 14, LER2K; 15, BDEZFTEH]Z;

16. QCHEHK; 17. F7I%K 18. BR%E;

—. IJIRHIERS

—. B:71E3mm,7]K8mm, HIR6mm,2K50mm .47 RNEAESHENTIEMIE
HREFMEX 5!

PR : D_C_S_L_FB/F

##&: D3C8S6L50F4B(F%RE)
D3C8S6L50F4 (& &)

—. B7RE3Imm, 7] K8mm, HE6mm,£K50mm BT EHR2.5mm,
BR15mm AT RRBRS#BEHNTEMENES X5
& HEYnE: D_C_BD_QC_S_L_FB/F

##%: D3C8BD2.5QC15S6L50F4B (FiFE) ;
D3C8BD2.5QC15S6L50F4 (& &) ;

1 UREEMBEFELHERFE, B (FRBRRREMEERR) ;
HETOEEBHETREUANRE,

BATERBENTNRRE




= HEEBNTIHISHRE

Bl EERTIBRLER2mm, SUA#EEMA10°, 7JEK6mm, BXTIK1S5,
WRERemm, 2K50mm.2T) RRBSHRENTIEMBHN RS XS
HEFIIES: ZR_A_C_QC_S_L_FB/F

FAE

ZR2A10C6QC15S6L50F2B(RERE) ;

ZR2A10C6QC15S6L50F2 (& &)

=. FETIRNIERS

Bl ATIE5mm, 7JK2mm, BE60°, #FER2mm, BX7]K5mm,
WEeMmmM,2K50mm .47 R ERBESHRBENTIEMBHNES X5

HEF)ERE: YD_A_C_BD_QC_S_L_FB/F
##&:YD5A60C2BD2QC5S6L50F4B(FRAER) ;
YD5A60C2BD2QC5S6L50F4 (& &) ;

#HRHEEFIIRE:YD_A_R_C_BD_QC_S_L_FB/F

YD5A60R_C2BD2QC5S6L50F4B(FRRE)

#HTAHBIIRE:YD_A_P_C_BD_QC_S_L_FB/F

YD5A60P_C2BD2QC5S6L50F4B(R&E)

&1 AREEMEFE2BHEHRTE, B (FRERMIRKEMERRE) ;
HET]OH#EE AHET /5 UARE,

B ERENTNRRE




G001~GO006

G007~G012

MNITZEH G013~GO015

= ami B G016~G020

B MTE T, G021~G118

G119~G128

HEFTHIS K G129~G132

RARZER G133~G134

BMAORERENINLRE




I ZEH

IR TIN5k AW

KPR HZEETEE
RAMRAQRNEERR, #BEE A, SRETEIES.

KRBT
$EYIHISERIM S UIHITI BRI T, AR R E RG]
HIZ) S EERROBER, (EUIBLE/NS B

-
-

PVDRE M5 R BE B & &A1 4
RESTAMERR, BRI REE-FEOTHIR 4TI RIBH S OMER .

Zero-puRiHE
7/
/ RERENRETRLE, THIMIMIES, RAGESHBLE.

EFIZ2N
REGALEER, THLIBEENR.

<tIHI & 4>
TH4#4%4S50C
YIHEREVC:80m/min
FiEHLEfr:0.2mm/rev
EHHIFLIR:24mm
B A A IR EIHL MR R
(KBMALENR)

I
1
1
1
1
1
1
1
1
1
1
]
]
]
]
]
]
]
]
]
]
I
I
I
1
1
1
1
+

PIHIKE
75.0m

LUFPVDRE
2750 2800 2900
PVDREEREE(HV)

BAOPERENINLRE

2950




I ZEH

SY-A=ka 3l

NRIMIATEN. ARE=E.

CoolingsA

NN FRE,MEL MR REMA
BB RAMERES. (EBTe5mmBL L) )

N ERTOEE
MARESEMTA7IOEE, JERRENTIRBHINGET

i E =0 TRTH
RS 20T AR N7 B EEMEIRAE R/ MCEHNSILIMIA, THE

HImKR

PVDREMKHRE RS 2 H
1R FFHIE B FBS R R 4R, A S 2 I T R BT IR R SO T A5

<UH & 4>
TH#ME:Inconel 718

FLiR:12mm
YIH)EE VC:15m/min
BEHLAE fr:0.1mm/rev
REANA HACE (R EBER)
ERMIER: LTI TG

1
1
I

]

1

1

]

1

]

]

I

I

1

1

1

]

I

I|

| §hkER D:7Tmm
I

Il

\4

BMAORERENINLRE




53N FRTE

------V--------------------------------------------------------------------

amit B
R
B A S K0S ARERHE:
BEERORT
BEBORR

MIHEFLTEISHIESEG6129-G1320

[ A SE B4 L)
PR Steel materials
2% Cold-extrusion steels DCO1., SPCE. ST15
Low-carbon steels 600N/mm? S235JR(St37-2). 20#. 1008

10SPb20, Y15Pb, SUN23

Free-cutting steels,etc

Construction steels E360(St70-2). 20CrMnTi
Case-hardened steels <800N/mm? 16MnCr5
Steel casting,etc GS-25CrMo4. ZG1Crl3. C47H
Case-hardened steels, 20MoCr3, SCM415, SAE5120H
Heat-treted steels, <1000N/mm? 42CrMo4. 4135
= Mid or high carbon steels,etc. 102Cr6, CK45. 70#
2 Heat-tretable steels, 50CrMo4. 35CrMoV
4.1 1A21fI§ﬂZ Cold work steels,etc. <1200N/mm2 X45NiCrMo4
%ﬁ%, i Nitriding steels,etc 31CrMo12, 38CrMoAl
aSaxi High-alloyed steels, - i
5.1 RAEIEW Hot work steels, <1400N/mm? X100CrMoV8-1-1. 5CrNiTi4
[EEE Mold steels,etc. Cr5WMoVSi, 20Cr2Mo2WVNiCo
W Stainless steel material:
1. AN, DA Ferritic,martensitic <950N/mm X2CrTil2, SS430, SS445, 9Crl8
M 2. 4 Austenitic <950N/mm X6CrNiMoTil7-12-2, 0Cr18Ni9, SS316
3. - SREAE Austenitic-ferritic(Duplex) <1100N/mm? X2CrNiMoN22-5-3, 00Cr23Ni4N, SAF2507
4. B EC{A-5 ECAATY PA 0 (E8 XA Austeniticferritic heat-resistant(Super Duplex)] < 1250N/mm? UNS S32550, S32750. 00Cr25Ni7Mo4N
S5 Cast materials

s seama o) EE e s s
« S3S T EETT - e —t

== G _ vl - = —

‘:‘% TER R (GIV) Cast iron with vermicular graphite(GJV) 288_‘5‘88 ;mmz gjxigg EE¥3§8

41 A 250-500N/mm? EN-GJMW-350-4(GTW-35). KTH330

4 | PTBEH(GTMW,GTMB) Malleable cast iron (GTMW,GTMB) 500-300N/mm? EN-GJMB-450-6(GT5-45), KTZ700

BasRE Non-ferrous materials
Aluminium alloys
T Fine aluminum <200 ;mm: A199.98R. 1A99
2 | poarena ini <350N/mm ENAW-AIMgSi, 2A80, AK8
3| REES Wrought aluminium alloys <550N/mm’ ENAW-AIZn5Mg3Cu, 6061, 7075
4 SiIST% ENAC-AlMg5. ZL101
5 Casting aluminium alloys T%<Si<12% ENAC-AISi9Cu3. ZAISil2, ZL111
1.6 12%<SiS17% GD-AISi17Cu4FeMg. ADC14
2.1 Pure copper,low-alloyed copper <400N/mm? E-Cu57
2.2 Copper-zinc alloys(brass,long-chipping) <550N/mm CuzZn37(Ms63)
2.3 Copper-zinc alloys(brass,short-chipping] _ <550N/mm CuZn36Pb3(Ms58)
2.4 |fHiEE® i, Copper-aluminium alloysfalu bronzelongchipping]  <800N/mm? CuAl10Ni5Fe4
2.5 |ABEE Copper-tin alloys(tin bronze,long-chipping)] <700N/mm CuSn8P
2.6 |HHE® Copper-tin alloys(tin bronze,short-chipping] <400N/mm CuSn7 ZnPb(RgT)
. < K ®
%g Special copper alloys <\1640000N//r:'i]’lr’lrﬁ]'l2 ((AAIVIMPPCCOo@485))
3.1 Wrought magnesium alloys <500N/mm? MgAT6Zn
3.2 Casting magnesium alloys <500N/mm?> EN-MCMgAI9Zn1
4.1 Duroplastics(short-chipping) Bakelit.Pertinax
4.0 Thermoplastics(long-chipping) PMMA,POM,PVC
4.3 & < 30%) | Fibre-reinforced synthetics(fibre content < 30%) GFK,CFK.AFK
4.4 HEE>3 19%) | Fibre-reinforced synthetics(fibre content>30%) GFK,CFK,AFK
Graphite 8000
Special materials
1.1 Pure titanium <450 /mm2 Til
1.2 o <900N/mm TAI6V4
13 Titanium alloys <1250N/mm? TiAl4Mo4Sn2
2.1 Pure nickel <600N mmz2 Ni 99,6
2.2 kel <1000N/mm Monel400
2.3 Nicket-basedalloys <1600N/mm’ Inconel 718
2.4 : <1000N/mm Udimet 605
75 Cobalt-basedalloys <1600N/mm? Havnes 25
2.6 Tron-basedalloys <1500N/mm? ncoloy 800
Hard materials
1 44-50HRC Weldox 1100
2 50-55HRC Hardox 550
3 | SIRBEREN, FEWN, BEYg High strength steels,hasrdened steels 55-60HRC Armox 600T
2 hard castings 60-63HR Ferro-Titanit
.5 63-66HRC HSSE

BATERZENTINR R




DAOFU

--------------------------------------------------------------------V------

LR 3XD
A3P B3P A3S B3S A3N B3N eS|
REVEBFIEE 3-20mm 3-20mm 3-20mm 3-20mm 3-20mm 3-20mm |BEREE
G021-G027 | G028-G034 | G035-G041 | G042-G048 | G049-G055 | G056-G062 Dihg

% ) f
"

it
A H} 2% A

11

2.1

3.1

N P
C|C|OC

>
i

,
c

o
A

P (U009 (I =i [ [0 N =
b= [N = o= Mo [

00| ~i[o [t [wofro [l [ [ [wo o [~

00| OO (N[N [N || R0 (NN

o]

NINISIS
= oo [Ro fi—

lG
5

[SI[N1 N} [N1[¥) N
[op} [(S1 E1 (O8] [S) o) Q0 [N =

1| o fro =

AP EREIMINARE




5 M FRTE 5

LR 5XD
A5P B5P A5S B5S A5N B5N

REVDBTIHE 3-20mm 3-20mm 3-20mm 3-20mm 3-20mm 3-20mm
G063-G069 | GO70-GO76 | GO77-G0O83 | G084-G090 [ G091-G097 | G098-G104

>
Al

o
A

(0 [0 NI 1= 1= P (OO (N =

o i [ 0o [~ | [ | Lo o [ o [ [ [Lo o[

] (N INOINO[NIINOINO[NO N

ININININ

[ ENJII] Y

&

i P g P el o
|||l fw o=

| [wofio =

BATERZENTINL R




53 R TE 5

-------------------------------------------------------------------V-----

8XD 12XD 15XD 20XD
A8P A8N

3-20mm 3-20mm
G105-G111 G112-G118

&
o

o
-

1.1
2.1
3.1
4.1
1.1
1.2
2.1
2.2
3.1
3.2
4.1

o [ [ [uo o=

00| Lo IIND (M0N0 [N [N N0 [N [N
INO | = 00 [ |G [ [N [

INFNININ

[ NN

5

[SI[S]N][N}N] N}
[e3](®] B4 [OV] (8] 5o Q0N [

AP EREIMINARE




M FRTE 3

-----V-------------------------------------------------------------------

LR 25XD 30XD

%31
SRR BEEE
P

~
-
>
o

«»
-
)
-

—

1.
2.
3.
4.
1.
1.
2.
2.

[ 0100 o o = = [ [ o
= N = N = [No =

Mo [i— oo [~ oo [ s Lo [Ro - oo [un [ [Lo o [—

00| WO IIND (N0 [N [N [N N0 [N [N

o i [ 0o [~ | [ | Lo o [ o [ [ [Lo o[

] (N INOINO[NIINOINO[NO N

ININININ

[ ENJII] Y

 ININNN
= s oo i

&

o[ eofroli= [ oo o~
Fop (53] K (%] [N] 1Y 8 ) NS Y

NINI[NO[NOINO (N
[S][S] ][N} N] N}

| [wofio =

BATERZENTINL R




53N R TE 55

DF920-A3P

@ -

: 2

-RYAZE SEDINGS3TARARIE #7118 IEDAOFUATE
SEOE FHIER BEMENR

i
Rt

s IHI 22
C920A3P0300 E
C920A3P0310
C920A3P0320 ;
C920A3P0330 . § M4x0.7
SO ' | e e
C920A3P0350 : § M4x0.5 NO.8-36UNF
C920A3P0360 :
C920A3P0370
C920A3P0380 ;
C920A3P0390 . f NO.10-24UNC
C920A3P0400 ‘
C920A3P0410 . ﬁ NO.10-32UNF
C920A3P0420 . ; M5x0.8
C920A3P0430
C920A3P0440 . e
C920A3P0450 . f 'M5x0.5N0.12-24UNC
C920A3P0460 . 5 NO.12-28UNF
C920A3P0470 . § NO.12-32UNEF
st e NO.12-32UNEF
C920A3P0490
C920A3P0500 . M6x1
C920A3P0510 . 1/4-20UNC
C920A3P0520
C920A3P0530 . M6x0.75
C920A3P0540
C920A3P0550 . 1/4-28UNF
C920A3P0560 . 1/4-32UNEF
C920A3P0570
C920A3P0580
C920A3P0590
C920A3P0600
C920A3P0610
C920A3P0620

BMAORERENINLRE




$53M FR T 5

DF920-A3P

@ s

-RAZ £EDINGS3TIR RS #7718 IEDAOFUMRAE
SEOE FHHER BEMETIR

e E D IHI 22 5
C920A3P0630 6.3
C920A3P0640 6.4
C920A3P0650 6.5
C920A3P0660 6.6 | 5/16-18UNC
C920A3P0670 6.7
C920A3P0680 6.8 M8x1.25
C920A3P0690 69 5/16-24UNF
C920A3P0700 70 M8x1
C920A3P0710 71 5/16-32UNEF
C920A3P0720 Tz
C920A3P0730 7.3 M8x0.75
C920A3P0740 7.4
C920A3P0750 7.5
C920A3P0760 7.6
7.7
C920A3P0780 7.8

M8x1.25

-
Ty

TOPBB
: 2

it
3t

C920A3P0790 7.9
C920A3P0800 8.0 3/8-16UNC

C920A3P0810 8.1

OinEEE OFNE b <3

>3-6 : >6-10  >10-16

>16

Z}f(M”: +0.002  +0.004 +0.006 | +0.007
| 40.012 | +0.016  +0.021 +0.025

&I

+0.008
+0.03

20 RN

@] ©

OEE HEIHISH%%G129-G132

BAOPERENINLRE




53N R TE 55

DF920-A3P

@ s

-RER £EDINGS3THRAERE #7)EIEDAOFUIR A

SEOE FHHER BEMETIR

= fies
C920A3P0820

C920A3P0830

C920A3P0840

C920A3P0850
C920A3P0860

C920A3P0870

C920A3P0880

C920A3P0890

C920A3P0900

C920A3P0910

C920A3P0920

C920A3P0930

C920A3P0940

C920A3P0950

C920A3P0960
C920A3P0970

C920A3P0980
C920A3P0990

C920A3P1000

C920A3P1010
C920A3P1020
C920A3P1030
C920A3P1040
C920A3P1050
C920A3P1060
C920A3P1070
C920A3P1080
C920A3P1090
C920A3P1100
C920A3P1110
C920A3P1120
C920A3P1130
C920A3P1140

TIHI 2238

it
3t

M10x1.5 3/8-24UNF

3/8-32UNEF

M10x1.25

M10x1

M10x0.75

M10x1.5

7/16-14UNC

C920A3P1150

7/16-20UNF

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

1/2-20UNF

M12x1.75

BMAORERENINLRE



@ s

-RAZ £EDINGS3TIR RS #7718 IEDAOFUMRAE
SEOE FHHER BEMETIR

= fies
C920A3P1160
C920A3P1170
C920A3P1180
C920A3P1190
C920A3P1200
C920A3P1210
C920A3P1220
C920A3P1230
C920A3P1240
C920A3P1250
C920A3P1260
C920A3P1270
C920A3P1280

C920A3P1290

C920A3P1310

C920A3P1320

C920A3P1330

OirEEEF OFME

$5 50 R 72 85

TIHI 2238

1/2-28UNEF

M14x2

9/16-12UNC

M14x1.5

DF920-A3P

9/16-18UNF

9/16-24UNEF

AZE(M7) *0-002 +0.004 +0.006 = +0.007
| +0.012 | +0.016 = +0.021 = +0.025

&I

>16
+0.008
+0.03

20

@)

RN

©

OES #EYHIZ%6129-G132

BAOPERENINLRE




@ s

-RAZ £EDINGS3TIR RS #7718 IEDAOFUMRAE
SEOE FHHER BEMETIR

e E I 22 £
C920A3P1340
€920A3P1350
C920A3P1360 5/8-11UNC
€920A3P1370
€920A3P1380
€920A3P1390
C920A3P1400
C920A3P1410
C920A3P1420
€920A3P1430
C920A3P1440 ; :
C920A3P1450 é M16x1.5 5/8-18UNF
C920A3P1460 :
C920A3P1470 5
C920A3P1480 ; § 5/8-24UNEF
ey | | _ S/BZAUNEF
C920A3P1500 E § M16x1
C920A3P1510 i :

C920A3P1520
€920A3P1530
C920A3P1540 ‘ :
C920A3P1550 : § M18x2.5
C920A3P1560 5 5

C920A3P1570
C920A3P1580
C920A3P1590
€920A3P1600
C920A3P1610
C920A3P1620
C920A3P1630
C920A3P1640
C920A3P1650 E
C920A3P1660 § 3/4-10UNC

it
3t

BMAORERENINLRE




@ s

-RAZ £EDINGS3TIR RS #7718 IEDAOFUMRAE
SEOE FHHER BEMETIR

= fies
C920A3P1670

D
16.7

C920A3P1680
C920A3P1690

16.8
16.9

C920A3P1700
C920A3P1710

17.0
17.1

C920A3P1720

17.2

C920A3P1730

17.3

C920A3P1740

17.4

C920A3P1750

17.5

C920A3P1760

17.6

C920A3P1770

17.7

C920A3P1780

17.8

C920A3P1790

17.9

C920A3P1800
C920A3P1810

18.0
18.1

$5 50 R 72 85

Ty
TO0P06
: 2

TIH 223

DF920-A3P

it
3t

M20x2.5 3/4-16UNF

3/4-20UNEF

C920A3P1820
C920A3P1830
C920A3P1840

18.2
18.3
18.4

C920A3P1850

O EET

18.5

FIE

M20x2

M20x1.5

&I

>16

AZE(M7) 0002 +0.004 +0.006 +0.007
| +0.012 | +0.016  +0.021 = +0.025

+0.008
+0.03

20

@)

RN

©

OES #EYHIZ%6129-G132

BAOPERENINLRE




53N R TE 55

DF920-A3P

@ S l - ~ e
Ty
: 2

-RAZ £EDINGS3TIR RS #7718 IEDAOFUMRAE
SEOE FHHER BEMETIR

it
3t

= fies D TIH 223
C920A3P1860 18.6
18.7
18.8
C920A3P1890 18.9
C920A3P1900 19.0
C920A3P1910 19.1
C920A3P1920 19.2
C920A3P1930 19.3
C920A3P1940 19.4
C920A3P1950 19.5
C920A3P1960 19.6 7/8-9UNC
C920A3P1970 19.7
C920A3P1980 19.8
C920A3P1990 19.9
C920A3P2000 20.0

O EERE OFRTE . <3 .36  >6-10 >10-16 16

’A%(MY): +0.002 © +0.004 +0.006 : +0.007 = +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

&I

20 RN

@] ©

OEE HEIHISH%%G129-G132

BMAORERENINLRE




$5 50 R 72 85

DF920-B3P

@ s

TCRP QS

- R0 £ DINGS3TAERIE  #E7]EIEDAOFUITE
-ELAE FHRER BEiteEA

it
3t

R E PIHI 22 H BrIE 22 5
C920B3P0300 1 '
C920B3P0310
C920B3P0320 ; :
C920B3P0330 . § M4x0.7
T ' | T
C920B3P0350 . : M4x0.5 NO.8-36UNF
C920B3P0360 :
C920B3P0370
C920B3P0380
C920B3P0390 . NO.10-24UNC
C920B3P0400
C920B3P0410 . NO.10-32UNF
C920B3P0420 . M5x0.8
C920B3P0430
e . e ————
C920B3P0460 . NO.12-28UNF
C920B3P0470 . NO.12-32UNEF
e  NO.12-32UNEF
C920B3P0490
C920B3P0500 . M6x1
C920B3P0510 . 1/4-20UNC
C920B3P0520
C920B3P0530 : M6x0.75
C920B3P0540
C920B3P0550 . 1/4-28UNF
C920B3P0560 . 1/4-32UNEF
C920B3P0570
C920B3P0580
C920B3P0590
C920B3P0600
C920B3P0610
C920B3P0620

BAOPERENINLRE




53N R TE 55

DF920-B3P

@ s

- R0 £ DINGS3TAERIE  #E7]EIEDAOFUITE

-ELAE FHRER BEiteEA

= fies
C920B3P0630
C920B3P0640
C920B3P0650
C920B3P0660
C920B3P0670
C920B3P0680
C920B3P0690
C920B3P0700
C920B3P0710
C920B3P0720
C920B3P0730
C920B3P0740
C920B3P0750
C920B3P0760

C920B3P0780

D

6.3
6.4
6.5
6.6
6.7
6.8
6.9
7.0
7.1
7.2
7.3
7.4
7.5
7.6
1.7
7.8

C920B3P0790
C920B3P0800

7.9
8.0

TOPBB
' 2

TIH 243

5/16-18UNC

M8x1.25
5/16-24UNF
M8x1
5/16-32UNEF

M8x0.75

it
3t

M8x1.25

3/8-16UNC

C920B3P0810

8.1

OirEEEF OFNE

&I

<3 36  >610 >10-16 >16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 = +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

20

RN

@)

©

OEE HEIHISH%%G129-G132

BMAORERENINLRE



$5 50 R 72 85

DF920-B3P

@ s

- R0 £ DINGS3TAERIE  #E7]EIEDAOFUITE
-ELAE FHRER BEiteEA

= fies
C920B3P0820

C920B3P0830

w ]

TIHI 2238

it
3t

C920B3P0840

C920B3P0850
C920B3P0860

C920B3P0870

M10x1.5 3/8-24UNF

C920B3P0880

3/8-32UNEF

C920B3P0890

M10x1.25

C920B3P0900

C920B3P0910

M10x1

C920B3P0920

C920B3P0930

C920B3P0940

M10x0.75

M10x1.5

C920B3P0950

7/16-14UNC

C920B3P0960
C920B3P0970

C920B3P0980

C920B3P0990

C920B3P1000
C920B3P1010
C920B3P1020
C920B3P1030
C920B3P1040
C920B3P1050
C920B3P1060
C920B3P1070
C920B3P1080
C920B3P1090
C920B3P1100
C920B3P1110
C920B3P1120
C920B3P1130

L92083P1l40 .

C920B3P1150

BAOPERENINLRE

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

7/16-20UNF

M12x1.75




53N R TE 55

DF920-B3P

@ s

- R0 £ DINGS3TAERIE  #E7]EIEDAOFUITE

-ELAE FHRER BEiteEA

= fies
C920B3P1160
C920B3P1170
C920B3P1180
C920B3P1190
C920B3P1200
C920B3P1210
C920B3P1220
C920B3P1230
C920B3P1240
C920B3P1250
C920B3P1260
C920B3P1270
C920B3P1280

C920B3P1290

C920B3P1310

C920B3P1320

C920B3P1330

OirEERF OFNE

TCRP QS
' 2

TIH 223

1/2-28UNEF

M14x2

9/16-12UNC

M14x1.5

9/16-18UNF

9/16-24UNEF

<3 »36 610 >10-16 >16

AZ(M7), +0.002 +0.004 +0.006  +0.007 | +0.008

&I

i +0.012  +0.016 = +0.021 ' +0.025 @ +0.03

20

RN

@)

©

OES #EYHIZ%6129-G132

BMAORERENINLRE



$5 50 R 72 85

DF920-B3P

@ s

TOPBB
' 2

- R0 £ DINGS3TAERIE  #E7]EIEDAOFUITE
-ELAE FHRER BEiteEA

e E I 22 £
€920B3P1340
€920B3P1350
€920B3P1360 5/8-11UNC
€920B3P1370
€920B3P1380
€920B3P1390
€920B3P1400
C920B3P1410
€920B3P1420
€920B3P1430
€920B3P1440 ; :
C920B3P1450 é M16x1.5 5/8-18UNF
C920B3P1460 :
€920B3P1470 5
C920B3P1480 ; § 5/8-24UNEF
e | | _ S/BZAUNEF
C920B3P1500 E § M16x1
C920B3P1510 i :
€920B3P1520
€920B3P1530
€920B3P1540 ‘ :
C920B3P1550 : § M18x2.5
C920B3P1560 5 5
€920B3P1570
C920B3P1580
€920B3P1590
€920B3P1600
C920B3P1610
€920B3P1620
€920B3P1630
€920B3P1640
C920B3P1650 E
C920B3P1660 § 3/4-10UNC

it
3t

BAOPERENINLRE




53N R TE 55

DF920-B3P

@ s

- R0 £ DINGS3TAERIE  #E7]EIEDAOFUITE

-ELAE FHRER BEiteEA

= fies
C920B3P1670

D
16.7

C920B3P1680
C920B3P1690

16.8
16.9

C920B3P1700
C920B3P1710

17.0
17.1

C920B3P1720

17.2

C920B3P1730

17.3

C920B3P1740

17.4

C920B3P1750

17.5

C920B3P1760

17.6

C920B3P1770

17.7

C920B3P1780

17.8

C920B3P1790

17.9

C920B3P1800
C920B3P1810

18.0
18.1

TOPBB
' 2

TIH 223

it
3t

M20x2.5 3/4-16UNF

3/4-20UNEF

C920B3P1820
C920B3P1830
C920B3P1840

18.2
18.3
18.4

C920B3P1850

18.5

OirEEEF OFMNE

M20x2

M20x1.5

&I

<3 | >36  >6-10 >10-16 >16

AZ(M7), +0.002 +0.004 +0.006  +0.007 | +0.008
| 40.012 +0.016 +0.021 +0.025 +0.03

20

RN

@)

©

OEE HEIHISH%%G129-G132

BMAORERENINLRE



$5 50 R 72 85

DF920-B3P

@ s

TOMB
' 2

- R0 £ DINGS3TAERIE  #E7]EIEDAOFUITE
-ELAE FHRER BEiteEA

it
3t

= fies D TIH 223
C920B3P1860 18.6
18.7
18.8
C920B3P1890 18.9
C920B3P1900 19.0
C920B3P1910 19.1
C920B3P1920 19.2
C920B3P1930 19.3
C920B3P1940 19.4
C920B3P1950 19.5
C920B3P1960 19.6 7/8-9UNC
C920B3P1970 19.7
C920B3P1980 19.8
C920B3P1990 19.9
C920B3P2000 20.0

OinEEFE OFE b <3 536 610 >10-16 16

’A%(MY): +0.002 © +0.004 +0.006 : +0.007 = +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

&I

20 RN

@] ©

OEE HEIHISH%%G129-G132

BAOPERENINLRE




& s

- R0 SEDINGSITAVERE  #IIIEIEDAOFUITLE

-LRARE TR

= fies
C920A350300

C920A3S50310

TIH 223

it
3t

C920A3S50320

C920A3S0330
C920A350340

C920A3S0350

M4x0.7

NO.8-32UNC

C920A350360

M4x0.5NO.8-36UNF

C920A3S0370

C920A350380

C920A3S50390

C920A350400

NO.10-24UNC

C920A3S50410

C920A350420

NO.10-32UNF

C920A3S50430

M5x0.8

C920A350440
C920A3S50450

C920A350460

C920A350470 o0 ]

C920A350480
C920A350490
C920A3S50500
C920A3S0510
C920A3S50520
C920A3S0530
C920A350540
C920A3S0550
C920A350560
C920A3S0570
C920A350580
C920A3S50590
C920A3S50600
C920A3S50610
C920A350620

M5x0.5N0O.12-24UNC

NO.12-28UNF

T2 2 N

M6x1
1/4-20UNC

M6x0.75

1/4-28UNF
1/4-32UNEF

BMAORERENINLRE



$5 50 R 72 85

DF920-A3S

& s

3XD 140°
TIAICTSIN N
)

- R0 SEDINGSITAVERE  #IIIEIEDAOFUITLE
-LRARE TR

it
3t

e E D I 22 £
C920A350630 6.3
C920A350640 6.4
C920A350650 6.5
C920A350660 6.6 | 5/16-18UNC
C920A350670 6.7
C920A350680 6.8 M8x1.25
C920A350690 69 5/16-24UNF
€920A350700 7.0 M8x1
C920A350710 71 5/16-32UNEF
C920A350720 72
C920A350730 7.3 M8x0.75
C920A350740 74 M8x1.25
C920A350750 75
C920A350760 7.6
7.7
C920A350780 7.8
C920A350790 79
C920A350800 8.0 3/8-16UNC
C920A350810 8.1

QO EEF OFEFE b <3 >36 %610 >1006 16

’A§(M7): +0.002 © +0.004 +0.006 : +0.007 = +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

&I
RN BE. KE=E

OES #EYHIZ%6129-G132

BAOPERENINLRE




& s

3XD 140°
TIAICTSIN N
)

- R0 SEDINGSITAVERE  #IIIEIEDAOFUITLE

-LRARE TR

= fies
C920A350820

C920A350830

TIH 2436

it
3t

C920A350840

C920A3S0850
C920A350860

C920A3S0870

M10x1.5 3/8-24UNF

C920A350880

3/8-32UNEF

C920A3S0890

M10x1.25

C920A350900

C920A3S0910

M10x1

C920A350920

C920A3S0930

C920A350940

M10x0.75

M10x1.5

C920A3S50950

7/16-14UNC

C920A350960
C920A3S0970

C920A350980

C920A3S0990

C920A351000
C920A3S51010
C920A351020
C920A3S51030
C920A351040
C920A3S51050
C920A351060
C920A3S1070
C920A351080
C920A3S51090
C920A3S51100
C920A3S1110
C920A3S1120
C920A3S1130

£920A351140

C920A3S1150

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

7/16-20UNF

M12x1.75

BMAORERENINLRE




$5 50 R 72 85

DF920-A3S

& s

TIAICTSIN N
)

- R0 SEDINGSITAVERE  #IIIEIEDAOFUITLE
-LRARE TR

e E I 22 £
C920A351160 ‘
C920A351170
C920A351180 8 1/2-28UNEF
C920A351190 :

C920A351200 0 M14x2
C920A351210
C920A351220 2 9/16-12UNC
C920A351230 '
C920A351240 ,
C920A351250 5 M14x1.5
C920A351260 i
C920A351270
C920A351280 :
C920A351290 9 9/16-18UNF

Pt ) T —

C920A3S1310
C920A3S51320 o 9/16-24UNEF
C920A3S51330

.*ﬁ}&&ﬁ Qﬁﬁ-%ﬁjﬁ | D b <3 T>3-6 v>6-107>10-16 >16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 . +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

&I
RN BE. KE=E

OEE HEIHISH%%G129-G132

BAOPERENINLRE




53 FRTE

DF920-A3S

& s

3XD 140°
TIAICTSIN N
)

- R0 SEDINGSITAVERE  #IIIEIEDAOFUITLE
-LRARE TR

i I 22 £
C920A351340
C920A351350
C920A351360 . 5/8-11UNC
C920A351370
C920A351380
C920A351390
C920A351400
C920A351410
C920A351420
C920A351430
C920A351440 :
C920A3S51450 c é M16x1.5 5/8-18UNF
C920A351460 :
C920A351470 ;
C920A351480 . § 5/8-24UNEF 5
Coa0aseLa50 | [ At e S
C920A351500 . § M16x1
C920A351510 :

C920A351520
C920A351530
C920A351540 :
C920A351550 : § M18x2.5
C920A351560 5

C920A3S1570
C920A351580
C920A351590
C920A351600
C920A351610
C920A351620
C920A351630
C920A351640
C920A351650
C920A351660 . ‘ 3/4-10UNC

it
3t

BMAORERENINLRE




5 3M FRTE 55

DF920-A3S

& s

- R0 SEDINGSITAVERE  #IIIEIEDAOFUITLE

-LRARE TR

= fies D
C920A3S1670 16.7
C920A351680 16.8
C920A3S51690 16.9
C920A3S51700 17.0
C920A3S1710 17.1
C920A3S1720 17.2
C920A3S1730 17.3
C920A3S1740 17.4
C920A3S1750 17.5
C920A3S51760 17.6
C920A3S1770 17.7
C920A351780 17.8
C920A3S1790 17.9
C920A351800 18.0

.
TIAICTSIN N
)

TIH 223

it
3t

M20x2.5 3/4-16UNF

3/4-20UNEF

C920A3S51810 18.1
C920A351820 18.2
C920A3S51830 18.3
C920A351840 18.4
C920A3S51850 18.5

OirEEEF OFNE

M20x2

M20x1.5

D <3 36  >610 >10-16

>16

&I

AZE(M7) *0.002 +0.004 | +0.006 +0.007
+0.012 ¢ +0.016 | +0.021 | +0.025

+0.008
+0.03

BE. KE=E

RN

OEE HEIHISH%%G129-G132

BAOPERENINLRE




53 FRTE

DF920-A3S

& s

e e
TIAICTSIN N
)

- R0 SEDINGSITAVERE  #IIIEIEDAOFUITLE
-LRARE TR

it
3t

= fies D TIH 223
C920A3S51860 18.6
18.7
18.8
C920A351890 18.9
C920A3S51900 19.0
C920A3S1910 19.1
C920A3S51920 19.2
C920A3S51930 19.3
C920A3S51940 19.4
C920A3S51950 19.5
C920A3S51960 19.6 7/8-9UNC
C920A3S51970 19.7
C920A3S51980 19.8
C920A351990 19.9
C920A3S52000 20.0

OinEEFE OFE o <3 536 610 >10-16 16

’A§(M7): +0.002 © +0.004 +0.006 : +0.007 = +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

&I

RN BE. KE=E

BMAORERENINLRE




5 3M FRTE 55

DF920-B3S

@ s

- R0 SEDINGSITAVERIE  #TIEIE DAOFULTIE
-LRARE TR

it
3t

e E YIHI 22 5
9208350300 ‘ '
C920B350310
C920B350320 ; ,
€920B350330 3 f M4x0.7
e - | T E
9208350350 . ﬁ M4x0.5 NO.8-36UNF
C920B350360 '
C920B350370
C920B350380 5
C920B350390 : § NO.10-24UNC
9208350400 i
C920B350410 1 § NO.10-32UNF
C920B350420 2 § M5x0.8
C920B350430 E 5
C920B350440 5
e . | e —
C920B350460 6 § NO.12-28UNF
C920B350470 T § NO.12-32UNEF
e —— E  NO.12-32UNEF
C920B350490 5
9208350500 : § Méx1
C920B3S0510 1 | § 1/4-20UNC
9208350520 i
C920B350530 3 § M6x0.75
9208350540 ' i
C920B350550 5 § 1/4-28UNF
C920B350560 6 § 1/4-32UNEF
€920B350570 ‘ E
C920B350580
C920B350590
C920B350600
C920B350610
C920B350620

BAOPERENINLRE




53 FRTE

DF920-B3S

@ s

3XD 140°
TIAICTSIN N
)

- R0 SEDINGSITAVERIE  #TIEIE DAOFULTIE

-LRARE TR

= fies
C920B3S0630
C920B3S0640
C920B3S0650
C920B3S0660
C920B3S0670
C920B3S0680
C920B3S0690
C920B3S0700
C920B3S0710
C€920B3S0720
C920B3S0730
C920B3S0740
C920B3S0750
C920B3S0760

C920B3S0780

D

6.3
6.4
6.5
6.6
6.7
6.8
6.9
7.0
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8

TIH 223

it
3t

C920B3S0790
C920B3S0800

7.9
8.0

5/16-18UNC

M8x1.25
5/16-24UNF
M8x1
5/16-32UNEF

M8x0.75
M8x1.25

3/8-16UNC

C920B3S0810

@i EET

8.1

FIE

D <3 | >36 >6-10 >10-16 >16

AAZ(M7) *0.002 +0.004  +0.006  +0.007 . +0.008
+0.012 | +0.016 +0.021  +0.025  +0.03

EE MR

W

BMAORERENINLRE



5 3M FRTE 55

DF920-B3S

@ s

- R0 SEDINGSITAVERIE  #TIEIE DAOFULTIE
-LRARE TR

= fies
C920B3S0820

C920B3S0830

3XD 140°
TIAICTSIN N
)

TIHI 2238

it
3t

C920B3S0840

C920B3S0850
C920B3S0860

C920B3S0870

M10x1.5 3/8-24UNF

C920B3S0880

3/8-32UNEF

C920B3S0890

M10x1.25

C920B3S0900

C920B3S0910

M10x1

C920B3S0920

C920B3S0930

C920B3S0940

M10x0.75

M10x1.5

C920B3S0950

7/16-14UNC

C920B3S0960
C920B3S0970

C920B3S0980

C920B3S0990

C920B3S1000
C920B3S1010
C920B3S1020
C920B3S1030
C920B3S1040
C920B3S1050
€920B3S1060
C920B3S1070
C920B3S1080
C920B3S1090
C920B3S1100
C920B3S1110
C920B3S1120
C920B3S1130
C920B3S1140

C920B3S1150

BAOPERENINLRE

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

1/2-20UNF

7/16-20UNF

M12x1.75




53 FRTE

DF920-B3S

@ s

e e
TIAICTSIN N
)

- R0 SEDINGSITAVERIE  #TIEIE DAOFULTIE
-LRARE TR

i IH £ 58
9208351160 ‘
C920B351170
€920B351180 8 1/2-28UNEF
9208351190 :

9208351200 0 M14x2
9208351210
9208351220 ER 9/16-12UNC
9208351230 '
9208351240 :
920B351250 5 M14x1.5
9208351260 :
9208351270
9208351280 ;
€920B351290 9 9/16-18UNF

b

C920B3S1310
C920B3S1320 o 9/16-24UNEF
C920B3S1330

.*ﬁ}&&ﬁ Qﬁﬁ-%ﬁjﬁ | D b <3 T>3-6 v>6-107>10-16 >16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 . +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

EE MR

W

BMAORERENINLRE




5 3M FRTE 55

DF920-B3S

@ s

3XD 140°
TIAICTSIN N
)

- R0 SEDINGSITAVERIE  #TIEIE DAOFULTIE
-LRARE TR

e E I 22 £
€920B351340
€920B351350
€920B351360 5/8-11UNC
€920B351370
€920B351380
€920B351390
€920B351400
€920B351410
€920B351420
€920B351430
€920B351440 ; :
C€920B3S1450 é M16x1.5 5/8-18UNF
C920B351460 :
€920B351470 5
C920B351480 ; § 5/8-24UNEF
e | | _ S/BZAUNEF
C920B351500 : § M16x1
C920B351510 i :
€920B351520
€920B351530
€920B351540 ‘ :
€920B351550 : § M18x2.5
€920B351560 5 5
€920B351570
€920B351580
€920B351590
€920B351600
€920B351610
€920B351620
€920B351630
€920B351640
€920B351650 E
€920B351660 § 3/4-10UNC

it
3t

BAOPERENINLRE




53 FRTE

DF920-B3S

@ s

- R0 SEDINGSITAVERIE  #TIEIE DAOFULTIE
-LRARE TR

= fies
C920B3S1670

D
16.7

C920B3S1680
C920B3S1690

16.8
16.9

C920B3S1700
C920B3S1710

17.0
17.1

C920B3S1720

17.2

C920B3S1730

17.3

C920B3S1740

17.4

C920B3S1750

17.5

C920B3S1760

17.6

C920B3S1770

17.7

C920B3S1780

17.8

C920B3S1790

17.9

C€920B3S1800
C920B3S1810

18.0
18.1

3XD 140°
TIAICTSIN N
)

TIH 223

it
3t

M20x2.5 3/4-16UNF

3/4-20UNEF

C920B3S1820
C920B3S1830
C920B3S1840

18.2
18.3
18.4

C920B3S1850

18.5

O®irEEEF OFMNE

M20x2

M20x1.5

EE MR

<3 | 36  >6-10 >10-16 >16

’A§(M7): +0.002 © +0.004 +0.006 : +0.007 +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

W

O

BMAORERENINLRE



5 3M FRTE 55

DF920-B3S

@ s

.
TIAICTSIN N
)

- R0 SEDINGSITAVERIE  #TIEIE DAOFULTIE
-LRARE TR

it
3t

=g D LI 42 5
C920B351860 18.6
18.7
18.8
C920B351890 18.9
C920B351900 19.0
C920B351910 19.1
C920B351920 19.2
C920B351930 19.3
C920B351940 19.4
C920B351950 19.5
C920B351960 19.6 7/8-9UNC
C920B351970 19.7
C920B351980 19.8
€920B351990 19.9
€920B352000 20.0

QO EEF OFEFFE b <3 >36 %610 >1006 16

’A§(M7): +0.002 © +0.004 +0.006 : +0.007 = +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

SEN=p) I 7 S
W BaRaE. KEE

OEF #ETHSH%G6129-G132

BAOPERENINLRE




53 FRTE

DF920-A3N
@ o]

130°

-RYAZE SEDINGS3TATARE #8718 IEDAOFUAR A
SEOSIE KEAER

it
3t

e E IHI 22 5
C920A3N0300 ‘ '
C920A3N0310
C920A3N0320 ;
C920A3N0330 3 M4x0.7
o e e
C920A3N0350 o M4x0.5N0.8-36UNF
C920A3N0360
C920A3N0370
C920A3N0380
C920A3N0390 . ; NO.10-24UNC
C920A3N0400 :
C920A3N0410 1 NO.10-32UNF
C920A3N0420 2 M5x0.8
C920A3N0430 E
C920A3N0440
s - TR TETIT S
C920A3N0460 6 NO.12-28UNF
C920A3N0470 T NO.12-32UNEF
SR ~ NO.12-32UNEF
C920A3N0490
C920A3N0500 . M6x1
C920A3N0510 1 | 1/4-20UNC
C920A3N0520
C920A3N0530 3 M6x0.75
C920A3N0540 '
C920A3N0550 5 1/4-28UNF
C920A3N0560 6 1/4-32UNEF
C920A3N0570 ‘
C920A3N0580
C920A3N0590
C920A3N0600
C920A3N0610
C920A3N0620

BMAORERENINLRE




5 3M FRTE 55

@ s

DF920-A3N

-RYAZE SEDINGS3TATARE #8718 IEDAOFUAR A

SEOSIE KEAER

= fies
C920A3N0630
C920A3N0640
C920A3N0650
C920A3N0660
C920A3N0670
C920A3N0680
C920A3N0690
C920A3N0700
C920A3N0710
C920A3N0720
C920A3N0730
C920A3N0740
C920A3N0750
C920A3N0760

C920A3N0780

D

6.3
6.4
6.5
6.6
6.7
6.8
6.9
7.0
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8

TIH 223

5/16-18UNC

M8x1.25
5/16-24UNF
M8x1
5/16-32UNEF

M8x0.75

130°
2

M8x1.25

it
3t

C920A3N0790
C920A3N0800

7.9
8.0

3/8-16UNC

C920A3N0810

8.1

OirEEEF OFMNE

EE I

 >36 | >6-10 >10-16

>16

AZE(M7) *0.002 +0.004 | +0.006 +0.007
+0.012 ¢ +0.016 | +0.021 | +0.025

+0.008
+0.03

MR (R B, 1H)

OES #EYHIZ%6129-G132

BAOPERENINLRE




53 FRTE

DF920-A3N
@ o]

130°

-RYAZE SEDINGS3TATARE #8718 IEDAOFUAR A
SEOSIE KEAER

= fies
C920A3N0820

C920A3N0830

C920A3N0840

C920A3N0850
C920A3N0860

C920A3N0870

C920A3N0880

C920A3N0890

C920A3N0900

C920A3N0910

C920A3N0920

C920A3N0930

C920A3N0940

C920A3N0950

C920A3N0960
C920A3N0970

C920A3N0980

C920A3N0990

C920A3N1000
C920A3N1010
C920A3N1020
C920A3N1030
C920A3N1040
C920A3N1050
C920A3N1060
C920A3N1070
C920A3N1080
C920A3N1090
C920A3N1100
C920A3N1110
C920A3N1120
C920A3N1130
C920A3N1140

TIHI 2238

it
3t

M10x1.5 3/8-24UNF

3/8-32UNEF

M10x1.25

M10x1

M10x0.75

M10x1.5

7/16-14UNC

C920A3N1150

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

7/16-20UNF

M12x1.75

1/2-20UNF

BMAORERENINLRE




5 3M FRTE 55

DF920-A3N
@ o]

130°
B

-RYAZE SEDINGS3TATARE #8718 IEDAOFUAR A
SEOSIE KEAER

e E I 22 £
C920A3N1160 ‘
C920A3N1170
C920A3N1180 8 1/2-28UNEF
C920A3N1190 :

C920A3N1200 0 M14x2
C920A3N1210
C920A3N1220 2 9/16-12UNC
C920A3N1230 '
C920A3N1240 ,
C920A3N1250 5 M14x1.5
C920A3N1260 i
C920A3N1270
C920A3N1280 :
C920A3N1290 9 9/16-18UNF

Pt ) T —

C920A3N1310
C920A3N1320 . 9/16-24UNEF
C920A3N1330

.*iﬂ&ﬁﬁ O%%%Jﬁxfé | D i <3 T>3-6 v>6-107>10-16 >16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 . +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

EE I

FEERM B (R, .

©

OEE HEIHISH%%G129-G132

BAOPERENINLRE




53 FRTE

DF920-A3N
@ o]

130°
B

-RYAZE SEDINGS3TATARE #8718 IEDAOFUAR A
SEOSIE KEAER

g TIH 22 5
C920A3N1340
C920A3N1350
C920A3N1360 5/8-11UNC
C920A3N1370
C920A3N1380
C920A3N1390
C920A3N1400
C920A3N1410

it
3t

C920A3N1430
C920A3N1440 ; :
C920A3N1450 M16x1.5 5/8-18UNF

o | : i e B
C920A3N1470 5
C920A3N1480 ; § 5/8-24UNEF

pecpnapo | | _ S/BMAUNEF
C920A3N1500 : § M16x1
C920A3N1510 i ‘
(C920A3N1520
C920A3N1530
C920A3N1540 ‘ :
C920A3N1550 : § M18x2.5
C920A3N1560 5 5

C920A3N1570
C920A3N1580
C920A3N1590
C920A3N1600
C920A3N1610
C920A3N1620
C920A3N1630
C920A3N1640
C920A3N1650 E
C920A3N1660 § 3/4-10UNC

BMAORERENINLRE




5 3M FRTE 55

DF920-A3N
@ o]

130°
B

-RYAZE SEDINGS3TATARE #8718 IEDAOFUAR A
SEOSIE KEAER

it
3t

i D I 22 £
C920A3N1670 167
C920A3N1680 16.8
C920A3N1690 16.9
C920A3N1700 17.0
C920A3N1710 17.1
C920A3N1720 17.2
C920A3N1730 17.3
C920A3N1740 17.4
C920A3N1750 17.5 M20x2.5 3/4-16UNF
C920A3N1760 17.6
C920A3N1770 17.7
C920A3N1780 178 3/4-20UNEF
C920A3N1790 179
C920A3N1800 180 M20x2
C920A3N1810 18.1
C920A3N1820 18.2
C920A3N1830 18.3
C920A3N1840 18.4
C920A3N1850 185 M20x1.5

.*ﬁ}&&ﬁ Oﬁﬁ'%%mfé | D i <3 T>3-6 v>6-107>10-16 >16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 . +0.008
+0.012 +0.016 +0.021 +0.025  +0.03

EE I

FEERM B (R, .

©

OEE HEIHISH%%G129-G132

BAOPERENINLRE




53 FRTE

DF920-A3N
@ o]

130°
B

-RYAZE SEDINGS3TATARE #8718 IEDAOFUAR A
SEOSIE KEAER

it
3t

=g D LI 42 5
C920A3N1860 18.6
18.7
18.8
C920A3N1890 18.9
C920A3N1900 19.0
C920A3N1910 19.1
C920A3N1920 19.2
C920A3N1930 19.3
C920A3N1940 19.4
C920A3N1950 19.5
C920A3N1960 19.6 7/8-9UNC
C920A3N1970 19.7
C920A3N1980 19.8
C920A3N1990 19.9
C920A3N2000 20.0

Q@inEEFE OFE [ 5 <3 236 610 >10-16 16

AAZ(M7) *0.002 +0.004  +0.006  +0.007  +0.008
+0.012 | +0.016 +0.021  +0.025  +0.03

EE I

FEERM B (R, .

©

BMAORERENINLRE




5 3M FRTE 55

DF920-B3N
@ s

130°
B

-RIER £EDINGS3THRAERIE #7118 EDAOFUARE
SEOIR AR

it
Rt

e E I 22 £
€920B3N0300 ‘ :
C920B3N0310
€920B3N0320 ; 5
C920B3N0330 3 § Max0.7
SO . | T
C920B3N0350 . § M4x0.5 NO.8-36UNF
C920B3N0360 5
€920B3N0370
C920B3N0380 ,
€920B3N0390 . ; NO.10-24UNC
€920B3N0400 :
C920B3N0410 1 ; NO.10-32UNF
C920B3N0420 2 : M5x0.8
C920B3N0430 E :

C920B3N0440 , -
e - | e ——
C920B3N0460 6 ﬁ NO.12-28UNF
C920B3N0470 T ﬁ NO.12-32UNEF

e , ~ NO.12-32UNEF
C920B3N0490 ,
€920B3N0500 . f M6x1
C920B3N0510 1 | : 1/4-20UNC
C920B3N0520 ﬁ
C920B3N0530 3 ; M6x0.75
€920B3N0540 ,
C920B3N0550 5 ﬁ 1/4-28UNF
C920B3N0560 6 f 1/4-32UNEF
C920B3N0570 ‘ '
C920B3N0580
€920B3N0590
C920B3N0600
C920B3N0610
C920B3N0620

BAOPERENINLRE




53 FRTE

DF920-B3N
@ s

130°

-RIER £EDINGS3THRAERIE #7118 EDAOFUARE
SEOIR AR

e E D I 22 £
C920B3N0630 6.3
C920B3N0640 6.4
C920B3N0650 6.5
C920B3N0660 6.6 | 5/16-18UNC
C920B3N0670 6.7
C920B3N0680 68 M8x1.25
C920B3N0690 69 5/16-24UNF
€920B3N0700 70 M8x1
C920B3N0710 71 5/16-32UNEF
€920B3N0720 72
C920B3N0730 7.3 M8x0.75
C920B3N0T740 74 M8x1.25
C920B3N0750 75
C920B3N0760 7.6
7.7
C920B3N0780 7.8
€920B3N0790 79
€920B3N0800 8.0 3/8-16UNC
C920B3N0810 8.1

it
3t

Q@inEEF OFE [ D | <3 »36 610 »1016 16

AAZ(M7) *0.002 +0.004  +0.006  +0.007 . +0.008
+0.012 | +0.016 +0.021  +0.025 +0.03

EE I

MR (R B, 1H)

©

BMAORERENINLRE




5 3M FRTE 55

DF920-B3N
@ s

130°
B

-RIER £EDINGS3THRAERIE #7118 EDAOFUARE
SEOIR AR

= fies
C920B3N0820

C920B3N0830

TIH 223

it
Rt

C920B3N0840

C920B3N0850
C920B3N0860

C920B3N0870

M10x1.5 3/8-24UNF

C920B3N0880

3/8-32UNEF

C920B3N0890

M10x1.25

C920B3N0900

C920B3N0910

M10x1

C920B3N0920

C920B3N0930

C920B3N0940

M10x0.75

M10x1.5

C920B3N0950

7/16-14UNC

C920B3N0960
C920B3N0970

C920B3N0980

C920B3N0990

C920B3N1000
C920B3N1010
C920B3N1020
C920B3N1030
C920B3N1040
C920B3N1050
C920B3N1060
C920B3N1070
C920B3N1080
C920B3N1090
C920B3N1100
C920B3N1110
C920B3N1120
C920B3N1130
C920B3N1140

C920B3N1150

BAOPERENINLRE

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

7/16-20UNF

M12x1.75

1/2-20UNF




53 FRTE

DF920-B3N

@ s

-RIER £EDINGS3THRAERIE #7118 EDAOFUARE
SEOIR AR

= fies
C920B3N1160
C920B3N1170
C920B3N1180
C920B3N1190
C920B3N1200
C920B3N1210
C920B3N1220
C920B3N1230
C920B3N1240
C920B3N1250
C920B3N1260
C920B3N1270
C920B3N1280

C920B3N1290

C920B3N1310

C920B3N1320

C920B3N1330

O EETF OFME

TIH 223

1/2-28UNEF

M14x2

9/16-12UNC

M14x1.5

130°
)

B

9/16-18UNF

9/16-24UNEF

EE I

<3 | >36 | >6-10 >10-16 >16

NEMT) +0.002 | +0.004 @ +0.006 +0.007 = +0.008
+0.012 | +0.016 = +0.021 +0.025  +0.03

FEERM B (R, .

©

BMAORERENINLRE



5 3M FRTE 55

DF920-B3N
@ s

130°
B

-RIER £EDINGS3THRAERIE #7118 EDAOFUARE
SEOIR AR

e E I 22 £
C920B3N1340
C920B3N1350
C920B3N1360 5/8-11UNC
C920B3N1370
€920B3N1380
€920B3N1390
C920B3N1400
C920B3N1410
C920B3N1420
C920B3N1430
C920B3N1440 ; :
C920B3N1450 é M16x1.5 5/8-18UNF
C920B3N1460 :
C920B3N1470 5
C920B3N1480 ; § 5/8-24UNEF
pssecsnapoa | | _ S/BZAUNEF
C920B3N1500 : § M16x1
C920B3N1510 i ‘
C920B3N1520
C920B3N1530
C920B3N1540 ‘ :
C920B3N1550 : § M18x2.5
C920B3N1560 5 5
C920B3N1570
C920B3N1580
C920B3N1590
C920B3N1600
C920B3N1610
C920B3N1620
C920B3N1630
C920B3N1640
C920B3N1650 E
C920B3N1660 § 3/4-10UNC

it
3t

BAOPERENINLRE




DF920-B3N
@ s

130°
B

-RIER £EDINGS3THRAERIE #7118 EDAOFUARE
SEOIR AR

it
3t

i D I 22 £
C920B3N1670 167
C920B3N1680 16.8
C920B3N1690 16.9
€920B3N1700 17.0
C920B3N1710 17.1
€920B3N1720 17.2
C920B3N1730 17.3
C920B3N1740 17.4
C920B3N1750 17.5 M20x2.5 3/4-16UNF
C920B3N1760 17.6
C920B3N1770 17.7
C920B3N1780 178 3/4-20UNEF
C920B3N1790 179
C920B3N1800 180 M20x2
C920B3N1810 18.1
€920B3N1820 18.2
C920B3N1830 18.3
C920B3N1840 18.4
C920B3N1850 185 M20x1.5

Q@inEEF OFE [ 5 <3 236 | 610 »10-16 16

AAZ(M7) *0.002 +0.004  +0.006  +0.007 . +0.008
+0.012 | +0.016 +0.021  +0.025 +0.03

EE I

FEERM B (R, .

©

BMAORERENINLRE




5 3M FRTE 55

DF920-B3N

@ s

130°
B

-RIER £EDINGS3THRAERIE #7118 EDAOFUARE
SEOIR AR

= fies
C920B3N1860

D
18.6

it
3t

TIH 223

18.7
18.8

C920B3N1890
C920B3N1900

18.9
19.0

C920B3N1910

19.1

C920B3N1920

19.2

C920B3N1930

19.3

C920B3N1940

19.4

C920B3N1950

19.5

C920B3N1960

19.6

7/8-9UNC

C920B3N1970

19.7

C920B3N1980

19.8

C920B3N1990
C920B3N2000

19.9
20.0

OirEEEF OFMNE

D <3 | >3-6  >6-10 >10-16 >16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 = +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

EE I

FEERM B (R, .

©

OEE HEIHISH%%G129-G132

BAOPERENINLRE




53 FRTE

DF920-A5P

& s

-RIE £EDINGS3THRAERNE 1#7I1EEDAOFUIT A

EOIR BB BeiteIA

= fies
C920A5P0300

C920A5P0310

C920A5P0320

C920A5P0330
C920A5P0340

C920A5P0350

C920A5P0360

C920A5P0370

TIHI 2238

b
oy

R
w

it
3t

M4x0.7

NO.8-32UNC

M4x0.5NO.8-36UNF

C920A5P0380

C920A5P0390

C920A5P0400

C920A5P0410

C920A5P0420

C920A5P0430

C920A5P0440
C920A5P0450

C920A5P0460

C920A5P0470 o0 ]

C920A5P0480
C920A5P0490
C920A5P0500
C920A5P0510
C920A5P0520
C920A5P0530
C920A5P0540
C920A5P0550
C920A5P0560
C920A5P0570
C920A5P0580
C920A5P0590
C920A5P0600
C920A5P0610
C920A5P0620

NO.10-24UNC

NO.10-32UNF

M5x0.8

M5x0.5N0.12-24UNC

NO.12-28UNF

T2 2 N

M6x1
1/4-20UNC

M6x0.75

1/4-28UNF
1/4-32UNEF

BMAORERENINLRE



5 3M FRTE 55

& s

DF920-A5P

-RIE £EDINGS3THRAERNE 1#7I1EEDAOFUIT A
EOIR BB BeiteIA

= fies
C920A5P0630
C920A5P0640
C920A5P0650
C920A5P0660
C920A5P0670
C920A5P0680
C920A5P0690
C920A5P0700
C920A5P0710
C920A5P0720
C920A5P0730
C920A5P0740
C920A5P0750
C920A5P0760

C920A5P0780

D

6.3
6.4
6.5
6.6
6.7
6.8
6.9
7.0
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8

C920A5P0790
C920A5P0800

7.9
8.0

TIHI 2238

5/16-18UNC

M8x1.25
5/16-24UNF
M8x1
5/16-32UNEF

M8x0.75

M8x1.25

b
Sy

20806
w

it
3t

3/8-16UNC

C920A5P0810

8.1

O ORHE

EE IR

536 >6-10 >10-16  >16

A(M7). +0.002 | +0.004 | +0.006 . +0.007
+0.012 | +0.016 | +0.021 | +0.025

+0.008
+0.03

BAOPERENINLRE

BEE. K

B



53 FRTE

DF920-A5P

& s

-RIE £EDINGS3THRAERNE 1#7I1EEDAOFUIT A

EOIR BB BeiteIA

= fies
C920A5P0820

C920A5P0830

C920A5P0840

C920A5P0850
C920A5P0860

C920A5P0870

C920A5P0880

C920A5P0890

C920A5P0900

C920A5P0910

C920A5P0920

C920A5P0930

C920A5P0940

C920A5P0950

C920A5P0960
C920A5P0970

C920A5P0980

C920A5P0990

C920A5P1000
C920A5P1010
C920A5P1020
C920A5P1030
C920A5P1040
C920A5P1050
C920A5P1060
C920A5P1070
C920A5P1080
C920A5P1090
C920A5P1100
C920A5P1110
C920A5P1120
C920A5P1130
C920A5P1140

TIH 223

b
Sy

TO0B 0B
w

it
3t

M10x1.5 3/8-24UNF

3/8-32UNEF

M10x1.25

M10x1

M10x0.75

M10x1.5

7/16-14UNC

C920A5P1150

7/16-20UNF

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

M12x1.75

1/2-20UNF

BMAORERENINLRE



5 3M FRTE 55

DF920-A5P

& s

-RIE £EDINGS3THRAERNE 1#7I1EEDAOFUIT A
EOIR BB BeiteIA

= fies
C920A5P1160
C920A5P1170
C920A5P1180
C920A5P1190
C920A5P1200
C920A5P1210
C920A5P1220
C920A5P1230
C920A5P1240
C920A5P1250
C920A5P1260
C920A5P1270
C920A5P1280

TIHI 2238

1/2-28UNEF

M14x2

9/16-12UNC

M14x1.5

TO0B 0B
w

C920A5P1290

C920A5P1310

9/16-18UNF

C920A5P1320

9/16-24UNEF

C920A5P1330

OirEEEF OFMNE

EE IR

536 | >6-10  >10-16

>16

AZ(M7), +0.002 | +0.004 | +0.006  +0.007
| +0.012 | +0.016  +0.021 = +0.025

+0.008
+0.03

BAOPERENINLRE

BEE. K

B



53 FRTE

DF920-A5P
@ S

-RIE £EDINGS3THRAERNE 1#7I1EEDAOFUIT A
EOIR BB BeiteIA

e E I 22 £
C920A5P1340
€920A5P1350
C920A5P1360 5/8-11UNC
C920A5P1370
€920A5P1380
C920A5P1390
C920A5P1400
C920A5P1410
C920A5P1420
€920A5P1430
C920A5P1440 ; :
C920A5P1450 é M16x1.5 5/8-18UNF
C920A5P1460 :
C920A5P1470 5
C920A5P1480 ; § 5/8-24UNEF
ey | | _ S/BZAUNEF
C920A5P1500 E § M16x1
C920A5P1510 i ‘
C920A5P1520
€920A5P1530
C920A5P1540 ‘ :
C920A5P1550 : § M18x2.5
C920A5P1560 5 5
C920A5P1570
C920A5P1580
C920A5P1590
C920A5P1600
C920A5P1610
C920A5P1620
€920A5P1630
C920A5P1640
C920A5P1650 E
C920A5P1660 § 3/4-10UNC

it
3t

BMAORERENINLRE




5 3M FRTE 55

& s

DF920-A5P

-RIE £EDINGS3THRAERNE 1#7I1EEDAOFUIT A
EOIR BB BeiteIA

= fies
C920A5P1670

D
16.7

b
Sy

20806
w

TIHI 2238

it
3t

C920A5P1680
C920A5P1690

16.8
16.9

C920A5P1700
C920A5P1710

17.0
17.1

C920A5P1720

17.2

C920A5P1730

17.3

C920A5P1740

17.4

C920A5P1750

17.5

M20x2.5 3/4-16UNF

C920A5P1760

17.6

C920A5P1770

17.7

C920A5P1780

17.8

3/4-20UNEF

C920A5P1790

17.9

C920A5P1800
C920A5P1810

18.0
18.1

M20x2

C920A5P1820
C920A5P1830
C920A5P1840

18.2
18.3
18.4

C920A5P1850

18.5

O ORHE

M20x1.5

D <3 | >36  >6-10 >10-16

>16

A(M7). +0.002 | +0.004 | +0.006 . +0.007
+0.012 | +0.016 | +0.021 | +0.025

EE IR

+0.008
+0.03

BAOPERENINLRE

BEE. KEE



& s

] 140°
TO0B 0B

-RIE £EDINGS3THRAERNE 1#7I1EEDAOFUIT A
EOIR BB BeiteIA

it
3t

= fies D TIHI 2238
C920A5P1860 18.6
18.7
18.8
C920A5P1890 18.9
C920A5P1900 19.0
C920A5P1910 19.1
C920A5P1920 19.2
C920A5P1930 19.3
C920A5P1940 19.4
C920A5P1950 19.5
C920A5P1960 19.6 7/8-9UNC
C920A5P1970 19.7
C920A5P1980 19.8
C920A5P1990 19.9
C920A5P2000 20.0

Q@inEEFE OFE [ 5 <3 236 | 610 »10-16 16

AAZ(M7) *0.002 +0.004  +0.006  +0.007  +0.008
+0.012 | +0.016 +0.021  +0.025  +0.03

EE IR

BMAORERENINLRE




5 3M FRTE 55

DF920-B5P

@ s

TOR 0B
: 2

-RZ £EDINGS3TIR RS #7JEIEDAOFULRE
EOE FHIEE BEMETIR

it
3t

e E I 22 £
C920B5P0300 ‘ :
C920B5P0310
C920B5P0320 ; 5
C920B5P0330 3 § Max0.7
oS e | T
C920B5P0350 . § M4x0.5 NO.8-36UNF
C920B5P0360 5
C920B5P0370
C920B5P0380
C920B5P0390 . ﬁ NO.10-24UNC
C920B5P0400 ﬁ
C920B5P0410 1 ; NO.10-32UNF
C920B5P0420 2 : M5x0.8
C920B5P0430 E :

C920B5P0440 ,
penssmapn - | G ——
C920B5P0460 6 ﬁ NO.12-28UNF
C920B5P0470 T ﬁ NO.12-32UNEF

e ~ NO.12-32UNEF
C920B5P0490
C920B5P0500 . M6x1
C920B5P0510 1 | 1/4-20UNC
C920B5P0520
C920B5P0530 3 M6x0.75
C920B5P0540 '
C920B5P0550 5 1/4-28UNF
C920B5P0560 6 1/4-32UNEF
C920B5P0570 ‘
C920B5P0580
C920B5P0590
C920B5P0600
C920B5P0610
C920B5P0620

BAOPERENINLRE




53 FRTE

DF920-B5P

@ s

-RE £EDINGS3THRERE 1#7I1EEDAOFUITE

EOE FHIEE BEMETIR

= fies
C920B5P0630
C920B5P0640
C920B5P0650
C920B5P0660
C920B5P0670
C920B5P0680
C920B5P0690
C920B5P0700
C920B5P0710
C920B5P0720
C920B5P0730
C920B5P0740
C920B5P0750
C920B5P0760

C920B5P0780

D

6.3
6.4
6.5
6.6
6.7
6.8
6.9
7.0
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8

C920B5P0790
C920B5P0800

7.9
8.0

TIH 223

5/16-18UNC

M8x1.25
5/16-24UNF
M8x1
5/16-32UNEF

M8x0.75

R
w

M8x1.25

it
3t

3/8-16UNC

C920B5P0810

8.1

O EETF OFE

EE IR

<3 | >36  >6-10 >10-16 >16

A(M7). +0.002 | +0.004 | +0.006 . +0.007
+0.012 | +0.016 | +0.021 | +0.025

+0.008
+0.03

S

B

BEE. K

B

BMAORERENINLRE




5 3M FRTE 55

DF920-B5P

@ s

TOR 0B
: 2

-RZ £EDINGS3TIR RS #7JEIEDAOFULRE
EOE FHIEE BEMETIR

= fies
C920B5P0820

C920B5P0830

TIHI 2238

it
3t

C920B5P0840

C920B5P0850
C920B5P0860

C920B5P0870

M10x1.5 3/8-24UNF

C920B5P0880

3/8-32UNEF

C920B5P0890

M10x1.25

C920B5P0900

C920B5P0910

M10x1

C920B5P0920

C920B5P0930

C920B5P0940

M10x0.75

M10x1.5

C920B5P0950

7/16-14UNC

C920B5P0960
C920B5P0970

C920B5P0980

C920B5P0990

C920B5P1000
C920B5P1010
C920B5P1020
C920B5P1030
C920B5P1040
C920B5P1050
C920B5P1060
C920B5P1070
C920B5P1080
C920B5P1090
C920B5P1100
C920B5P1110
C920B5P1120
C920B5P1130
C920B5P1140

C920B5P1150

BAOPERENINLRE

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

7/16-20UNF

M12x1.75

1/2-20UNF




53 FRTE

DF920-B5P

@ s

R
' 2

-RZ £EDINGS3TIR RS #7JEIEDAOFULRE
EOE FHIEE BEMETIR

e E I 22 £
C920B5P1160 ‘
C920B5P1170
C920B5P1180 8 1/2-28UNEF
€920B5P1190 :

C920B5P1200 0 M14x2
€920B5P1210
C920B5P1220 2 9/16-12UNC
€920B5P1230 '
C920B5P1240 ,
C920B5P1250 5 M14x1.5
C920B5P1260 '
C920B5P1270
C920B5P1280 :
€920B5P1290 9 9/16-18UNF

Pt ) T —

C920B5P1310
C920B5P1320 . 9/16-24UNEF
C920B5P1330

O EEEF OFMNE b <3 >36 610 G106 >16

’A%(MD: +0.002 © +0.004 +0.006 . +0.007 +0.008
| +0.012 | +0.016  +0.021 +0.025  +0.03

EE IR

W BEE. KEE

BMAORERENINLRE




5 3M FRTE 55

DF920-B5P

@ s

-RZ £EDINGS3TIR RS #7JEIEDAOFULRE
EOE FHIEE BEMETIR

e E I 22 £
C920B5P1340
C920B5P1350
C920B5P1360 5/8-11UNC
C920B5P1370
C920B5P1380
C920B5P1390
C920B5P1400
C920B5P1410
C920B5P1420
C920B5P1430
C920B5P1440 ; :
C920B5P1450 é M16x1.5 5/8-18UNF
C920B5P1460 :
C920B5P1470 5
C920B5P1480 ; § 5/8-24UNEF
pscqsuscayonn | | _ S/BZAUNEF
C920B5P1500 E § M16x1
C920B5P1510 i ‘
C920B5P1520
C920B5P1530
C920B5P1540 ‘ :
C920B5P1550 : § M18x2.5
C920B5P1560 5 5
C920B5P1570
C920B5P1580
C920B5P1590
C920B5P1600
C920B5P1610
C920B5P1620
C920B5P1630
C920B5P1640
€920B5P1650 E
C920B5P1660 § 3/4-10UNC

it
3t

BAOPERENINLRE




53 FRTE

DF920-B5P

@ s

TOR 0B

-RZ £EDINGS3TIR RS #7JEIEDAOFULRE
EOE FHIEE BEMETIR

it
3t

i D I 22 £
C920B5P1670 167
C920B5P1680 16.8
C920B5P1690 16.9
C920B5P1700 17.0
C920B5P1710 17.1
C920B5P1720 17.2
C920B5P1730 17.3
C920B5P1740 17.4
C920B5P1750 17.5 M20x2.5 3/4-16UNF
C920B5P1760 17.6
C920B5P1770 17.7
C920B5P1780 178 3/4-20UNEF
C920B5P1790 179
C920B5P1800 180 M20x2
C920B5P1810 18.1
C920B5P1820 18.2
C920B5P1830 18.3
C920B5P1840 18.4
C920B5P1850 185 M20x1.5

Q@inEEF OFE [ 5 <3 236 | 610 »10-16 16

AAZ(M7) *0.002 +0.004  +0.006  +0.007 . +0.008
+0.012 | +0.016 +0.021  +0.025 +0.03

EE IR

W BEE. KEE

BMAORERENINLRE




S5 50 FE T2 £

@ s

DF920-B5P

-RZ £EDINGS3TIR RS #7JEIEDAOFULRE
EOE FHIEE BEMETIR

= fies
C920B5P1860

D
18.6

18.7
18.8

C920B5P1890
C920B5P1900

18.9
19.0

C920B5P1910

19.1

C920B5P1920

19.2

C920B5P1930

19.3

C920B5P1940

19.4

C920B5P1950

19.5

C920B5P1960

19.6

C920B5P1970

19.7

C920B5P1980

19.8

C920B5P1990
C920B5P2000

O EET

19.9
20.0

FIE

EEMIAE

TOR 0B
w

TIH 223

it
3t

7/8-9UNC

D <3 | >36 >6-10 >10-16

>16

AZ(M7) *0.002  +0.004 | +0.006 +0.007
+0.012 | +0.016 | +0.021 | +0.025

+0.008
+0.03

W

OEE HEIHISH%%G129-G132

BAOPERENINLRE




& s

o 140°
5XD TIAICISIN 'h

-RAZE SEDINGS3TARARE #7){EIEDAOFUAT A
SEOSIE HRRIER

it
3t

e E I 22 £
C920A550300 ‘ L
C920A550310
C920A550320 ; ;
C920A550330 3 § M4x0.7
S e | e
C920A550350 . E M4x0.5 NO.8-36UNF
C920A550360 :
C920A550370
C920A550380 ;
C920A550390 . § NO.10-24UNC
C920A550400 i
C920A550410 1 : NO.10-32UNF
C920A550420 2 Q M5x0.8
C920A550430 E
C920A550440
s - | TR TETIT S
C920A550460 6 ; NO.12-28UNF
C920A550470 T ﬁ NO.12-32UNEF
R : ~ NO.12-32UNEF
C920A550490 :
C920A550500 : § M6x1
C920A550510 1 | § 1/4-20UNC
C920A550520 f
C920A550530 3 E M6x0.75
C920A550540 ' i
C920A550550 5 § 1/4-28UNF
C920A550560 6 § 1/4-32UNEF
C920A550570 ‘ :
C920A550580
C920A550590
C920A550600
C920A550610
C920A550620

BMAORERENINLRE




S5 50 FE T2 £

DF920-A5S

P s

o 140°
5XD TIAICISIN 'h

-RAZE SEDINGS3TARARE #7){EIEDAOFUAT A
SEOSIE HRRIER

i D I 22 £
C920A550630 6.3
C920A550640 6.4
C920A550650 6.5
C920A550660 6.6 | 5/16-18UNC
C920A550670 6.7
C920A550680 6.8 M8x1.25
C920A550690 69 5/16-24UNF
C920A550700 70 M8x1
C920A550710 7.1 5/16-32UNEF
C920A550720 72
C920A550730 73 M8x0.75
C920A550740 T4 M8x1.25
C920A550750 7.5
C920A550760 7.6
7.7
C920A550780 7.8
C920A550790 7.9
C920A550800 8.0 3/8-16UNC
C920A550810 8.1

it
3t

QO EEF OFEFFE b <3 36 610 1016 >16

’A§(M7): +0.002 © +0.004 +0.006 . +0.007 +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

&SI

OES #EYHIZ%6129-G132

BAOPERENINLRE




M ARTE S

DF920-A5S

& s

o 140°
5XD TIAICISIN 'h

-RAZE SEDINGS3TARARE #7){EIEDAOFUAT A
SEOSIE HRRIER

= fies
C920A550820

C920A5S50830

C920A550840

C920A5S0850
C920A550860

C920A5S0870

C920A550880

C920A5S0890

C920A550900

C920A5S0910

C920A5S50920

C920A5S0930

C920A550940

C920A5S0950

C920A550960
C920A5S0970

C920A550980

C920A5S0990

C920A551000
C920A5S51010
C920A551020
C920A5S51030
C920A551040
C920A5S51050
C920A5S51060
C920A5S1070
C920A551080
C920A5S1090
C920A5S51100
C920A5S1110
C920A5S1120
C920A5S1130
C920A5S1140

TIH 223

it
3t

M10x1.5 3/8-24UNF

3/8-32UNEF

M10x1.25

M10x1

M10x0.75

M10x1.5

7/16-14UNC

C920A5S1150

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

7/16-20UNF

M12x1.75

1/2-20UNF

BMAORERENINLRE



S5 50 FE T2 £

DF920-A5S

& s

o 140°
5XD TIAICISIN 'h

-RAZE SEDINGS3TARARE #7){EIEDAOFUAT A
SEOSIE HRRIER

e E D I 22 £
C920A551160 11.6 ‘
C920A551170 11.7
C920A551180 1.8 1/2-28UNEF
C920A551190 119
C920A551200  12.0 M14x2
C920A551210 12.1
C920A551220 122 9/16-12UNC
C920A551230 123
C920A551240 124
C920A551250 125 M14x1.5
C920A551260 126
C920A551270 12.7
C920A551280 128
C920A551290 129 9/16-18UNF

o b
SO S
C920A551320 13.2 9/16-24UNEF
C920A551330 13.3

O@inEEE OFE D <3 »36 610 >10-16 >16

AZ(M7), +0.002 +0.004 +0.006  +0.007 | +0.008
| 40,012 +0.016 +0.021 +0.025 +0.03

&SI

OEE HEIHISH%%G129-G132

BAOPERENINLRE




M ARTE S

DF920-A5S

& s

-RAZE SEDINGS3TARARE #7){EIEDAOFUAT A
SEOSIE HRRIER

e E I 22 £
C920A551340
C920A551350
C920A551360 5/8-11UNC
C920A551370
C920A551380
C920A551390
C920A551400
C920A551410
C920A551420
C920A551430
C920A551440 ; :
C920A551450 é M16x1.5 5/8-18UNF
C920A551460 :
C920A551470 5
C920A551480 ; § 5/8-24UNEF
g | | _ S/BZAUNEF
C920A551500 : § M16x1
C920A551510 i :

C920A551520
C920A551530
C920A551540 ‘ :
C920A551550 : § M18x2.5
C920A551560 5 5

C920A551570
C920A551580
C920A551590
C920A551600
C920A551610
C920A551620
C920A551630
C920A551640
C920A551650 E
C920A551660 § 3/4-10UNC

it
3t

BMAORERENINLRE




S5 50 FE T2 £

DF920-A5S

& s

-RAZE SEDINGS3TARARE #7){EIEDAOFUAT A
SEOSIE HRRIER

it
3t

i D I 22 £
C920A551670 167
C920A551680 16.8
C920A551690 16.9
C920A551700 17.0
C920A551710 17.1
C920A551720 17.2
C920A551730 17.3
C920A551740 17.4
C920A551750 17.5 M20x2.5 3/4-16UNF
C920A551760 17.6
C920A551770 17.7
C920A551780 178 3/4-20UNEF
C920A551790 179
C920A551800 18.0 M20x2
C920A551810 18.1
C920A551820 18.2
C920A551830 18.3
C920A551840 18.4
C920A551850 185 M20x1.5

@i EEEF OFMNE b <3 >36 610 1016 >16

’A%(MD: +0.002 © +0.004 +0.006 . +0.007 +0.008
| +0.012 | +0.016  +0.021 +0.025  +0.03

&SI

OEE HEIHISH%%G129-G132

BAOPERENINLRE




M ARTE S

DF920-A5S

& s

140°
TIAICKSIN 'h

-RAZE SEDINGS3TARARE #7){EIEDAOFUAT A
SEOSIE HRRIER

it
3t

=g D LI 42 5
C920A551860 18.6
18.7
18.8
C920A551890 18.9
C920A5S1900 19.0
C920A5S51910 19.1
C920A551920 19.2
C920A5S51930 19.3
C920A5S51940 19.4
C920A551950 19.5
C920A551960 19.6 7/8-9UNC
C920A5S1970 19.7
C920A551980 19.8
C920A551990 19.9
C920A552000 20.0

@inEEF EIE [ 5 <3 {36 | 610 ~10-16 16

AAZ(M7) *0.002 +0.004  +0.006  +0.007  +0.008
+0.012 | +0.016  +0.021 | +0.025 = +0.03

&SI

BMAORERENINLRE




S5 50 FE T2 £

DF920-B5S

@ o[-

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

it
3t

e E YIHI 22 5
€920B550300 ‘ :
€920B550310
€920B550320 ; 5
9208550330 3 § Max0.7
S . | T
9208550350 . § M4x0.5 NO.8-36UNF
C920B550360 5
C920B550370
C920B550380
C920B550390 . ﬁ NO.10-24UNC
€920B550400 :
C920B550410 1 ; NO.10-32UNF
C920B550420 2 : M5x0.8
C920B550430 E :

C920B550440 ,
et - | G ——
C920B550460 6 ﬁ NO.12-28UNF
C920B550470 T ﬁ NO.12-32UNEF

e ~ NO.12-32UNEF
C920B550490
C920B550500 . M6x1
C920B550510 i 1/4-20UNC
C920B550520
C920B550530 3 M6x0.75
C920B550540 '
C920B550550 5 1/4-28UNF
C920B550560 6 1/4-32UNEF
€920B550570 ‘
C920B550580
C920B550590
C920B550600
C920B550610
C920B550620

BAOPERENINLRE




M ARTE S

DF920-B5S

@ o[-

o 140°
5XD TIAICTSIN 'k

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

it
3t

i D I 22 £
€920B550630 6.3
€920B550640 6.4
€920B550650 6.5
€920B550660 6.6 | 5/16-18UNC
C920B550670 6.7
€920B550680 6.8 M8x1.25
€920B550690 69 5/16-24UNF
€920B550700 70 M8x1
€920B550710 7.1 5/16-32UNEF
€920B550720 72
€920B550730 73 M8x0.75
C920B550740 T4 M8x1.25
€920B550750 7.5
€920B550760 7.6
7.7
€920B550780 7.8
€920B550790 7.9
€920B550800 8.0 3/8-16UNC
C920B550810 8.1

O EEFE OFEWE [ D | <3 | »36 =610 ~1016. =16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 = +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

EE NI

W

BMAORERENINLRE




S5 50 FE T2 £

DF920-B5S

@ o[-

o 140°
5XD TIAICTSIN 'k

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

= fies
C920B5S0820

C920B5S0830

TIHI 2238

it
3t

C920B550840

C920B5S0850
C920B55S0860

C920B5S0870

M10x1.5 3/8-24UNF

C920B5S0880

3/8-32UNEF

C920B5S0890

M10x1.25

C920B5S0900

C€920B5S0910

M10x1

C920B5S0920

C920B5S0930

C920B550940

M10x0.75

M10x1.5

C920B5S0950

7/16-14UNC

C920B5S0960
C920B5S0970

C920B5S0980

C920B5S0990

C920B5S1000
C€920B5S1010
C920B5S51020
C920B5S1030
C920B5S51040
C920B5S1050
C920B5S51060
C920B5S1070
C920B5S1080
C920B5S1090
C920B5S1100
C920B5S1110
C920B5S1120
C920B5S1130
C920B5S1140

C920B5S1150

BAOPERENINLRE

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

7/16-20UNF

M12x1.75

1/2-20UNF




M ARTE S

DF920-B5S

@ o[-

o 140°
5XD TIAICTSIN 'k

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

i IH £ 58
C920B551160 ‘
C920B551170
€920B551180 8 1/2-28UNEF
9208551190 :

C920B551200 0 M14x2
9208551210
9208551220 ER 9/16-12UNC
9208551230 '
9208551240 :
C920B551250 5 M14x1.5
9208551260 :
9208551270
9208551280 ;
€920B551290 9 9/16-18UNF

b

C920B5S1310
C920B5S1320 . 9/16-24UNEF
C920B5S1330

OinEEE OFE o <3 36 610 »10-16 16

AZE(M7), +0.002 +0.004 +0.006  +0.007 | +0.008
| 40,012 +0.016 +0.021 +0.025 +0.03

EE NI

W

BMAORERENINLRE




S5 50 FE T2 £

DF920-B5S

@ o[-

o 140°
5XD TIAICrSIN 'k

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

e E I 22 £
€920B551340
€920B551350
€920B551360 5/8-11UNC
€920B551370
C920B551380
€920B551390
C920B551400
€920B551410
€920B551420
C920B551430
€920B551440 ; :
C920B551450 § M16x1.5 5/8-18UNF
C920B551460 :
€920B551470 5
C920B551480 ; § 5/8-24UNEF
g | | _ S/BZAUNEF
C920B551500 : § M16x1
C920B551510 i :

9208551520
C920B551530
€920B551540 ‘ :
C920B551550 : § M18x2.5
C920B551560 5 5

€920B551570
€920B551580
€920B551590
C920B551600
C920B551610
C920B551620
C920B551630
€920B551640
C920B551650 E
€920B551660 § 3/4-10UNC

it
3t

BAOPERENINLRE




DF920-B5S

@ o[-

M ARTE S

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A

SEOJIE FRRIER

= fies
C920B5S1670

D
16.7

TIH 223

it
3t

C920B5S1680
C920B5S1690

16.8
16.9

C920B5S1700
C920B5S1710

17.0
17.1

C920B5S1720

17.2

C920B5S1730

17.3

C920B5S1740

17.4

C920B5S1750

17.5

M20x2.5 3/4-16UNF

C920B5S1760

17.6

C920B5S1770

17.7

C920B5S1780

17.8

3/4-20UNEF

C920B5S1790

17.9

C€920B551800
C920B5S1810

18.0
18.1

M20x2

C920B5S51820
C920B5S1830
C920B551840

18.2
18.3
18.4

C920B5S1850

18.5

OirEEEF OFNE

M20x1.5

D

<3 >36 >6-10 >10-16 >16

/I_§§(M7): +0.002 © +0.004 +0.006 : +0.007 = +0.008

EE NI

i +0.012  +0.016 +0.021 & +0.025 . +0.03

W

o

BMAORERENINLRE



S5 50 FE T2 £

DF920-B5S

@ o[-

ZTSP0B

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

it
3t

=g D LI 42 5
C920B551860 18.6
18.7
18.8
C920B551890 18.9
C920B551900 19.0
C920B551910 19.1
C920B551920 19.2
C920B551930 19.3
C920B551940 19.4
C920B551950 19.5
C920B551960 19.6 7/8-9UNC
C920B551970 19.7
C920B551980 19.8
€920B551990 19.9
€920B552000 20.0

OirEEEF OFNE D <3 36 610 1016 >16

’A%(MD: +0.002 © +0.004 +0.006 : +0.007 +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

EE NI

W

OES #EYHIZ%6129-G132

BAOPERENINLRE




M ARTE S

DF920-A5N

P s

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

it
3t

e E I 22 £
C920A5N0300 ‘ L
C920A5N0310
C920A5N0320 ; ;
C920A5N0330 3 § M4x0.7
S e | e
C920A5N0350 . E M4x0.5 NO.8-36UNF
C920A5N0360 :
C920A5N0370
C920A5N0380 ;
C920A5N0390 . § NO.10-24UNC
C920A5N0400 i
C920A5N0410 1 : NO.10-32UNF
C920A5N0420 2 Q M5x0.8
C920A5N0430 E
C920A5N0440
aians - | TR TETIT S
C920A5N0460 6 ; NO.12-28UNF
C920A5N0470 T ﬁ NO.12-32UNEF
SR : ~ NO.12-32UNEF
C920A5N0490 :
C920A5N0500 : § M6x1
C920A5N0510 1 | § 1/4-20UNC
C920A5N0520 f
C920A5N0530 3 E M6x0.75
C920A5N0540 ' ;
C920A5N0550 5 § 1/4-28UNF
C920A5N0560 6 § 1/4-32UNEF
C920A5N0570 ‘ :
C920A5N0580
C920A5N0590
C920A5N0600
C920A5N0610
C920A5N0620

BMAORERENINLRE




S5 50 FE T2 £

& s

DF920-A5N

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A

SEOJIE FRRIER

= fies
C920A5N0630
C920A5N0640
C920A5N0650
C920A5N0660
C920A5N0670
C920A5N0680
C920A5N0690
C920A5N0700
C920A5N0710
C920A5N0720
C920A5N0730
C920A5N0740
C920A5N0750
C920A5N0760

C920A5N0780

D

6.3
6.4
6.5
6.6
6.7
6.8
6.9
7.0
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8

TIHI 2238

5/16-18UNC

M8x1.25
5/16-24UNF
M8x1
5/16-32UNEF

M8x0.75

M8x1.25

it
3t

C920A5N0790
C920A5N0800

7.9
8.0

3/8-16UNC

C920A5N0810

8.1

OirEEEF OFNE

EE MR

<3 36  >610 >10-16

>16

AZE(M7) *0.002 +0.004 | +0.006 +0.007
+0.012 ¢ +0.016 | +0.021 | +0.025

+0.008
+0.03

FEEMR (R B 1)

BAOPERENINLRE

W




M ARTE S

DF920-A5N

P s

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

= fies
C920A5N0820

C920A5N0830

C920A5N0840

C920A5N0850
C920A5N0860

C920A5N0870

C920A5N0880

C920A5N0890

C920A5N0900

C920A5N0910

C920A5N0920

C920A5N0930

C920A5N0940

C920A5N0950

C920A5N0960
C920A5N0970

C920A5N0980

C920A5N0990

C920A5N1000
C920A5N1010
C920A5N1020
C920A5N1030
C920A5N1040
C920A5N1050
C920A5N1060
C920A5N1070
C920A5N1080
C920A5N1090
C920A5N1100
C920A5N1110
C920A5N1120
C920A5N1130
C920A5N1140

TIHI 2238

it
3t

M10x1.5 3/8-24UNF

3/8-32UNEF

M10x1.25

M10x1

M10x0.75

M10x1.5

7/16-14UNC

C920A5N1150

7/16-20UNF

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

M12x1.75

1/2-20UNF

BMAORERENINLRE



S5 50 FE T2 £

DF920-A5N

& s

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

e E I 22 £
C920A5N1160 ‘
C920A5N1170
C920A5N1180 8 1/2-28UNEF
C920A5N1190 :

C920A5N1200 0 M14x2
C920A5N1210
C920A5N1220 2 9/16-12UNC
C920A5N1230 '
C920A5N1240 ,
C920A5N1250 5 M14x1.5
C920A5N1260 '
C920A5N1270
C920A5N1280 :
C920A5N1290 9 9/16-18UNF

Pt I O —

C920A5N1310
C920A5N1320 . 9/16-24UNEF
C920A5N1330

Q@inEEFE OFE D | <3 | »36 =610 »1016 =16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 . +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

EE MR

FEEMR (R B 1) W

BAOPERENINLRE




M ARTE S

DF920-A5N

P s

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

e E I 22 £
C920A5N1340
C920A5N1350
C920A5N1360 5/8-11UNC
C920A5N1370
C920A5N1380
C920A5N1390
C920A5N1400
C920A5N1410
C920A5N1420
C920A5N1430
C920A5N1440 ; :
C920A5N1450 é M16x1.5 5/8-18UNF
C920A5N1460 :
C920A5N1470 5
C920A5N1480 ; § 5/8-24UNEF
pscmpapo | | _ S/BZAUNEF
C920A5N1500 : § M16x1
C920A5N1510 i :

(C920A5N1520
C920A5N1530
C920A5N1540 ‘ :
C920A5N1550 : § M18x2.5
C920A5N1560 5 5

C920A5N1570
C920A5N1580
C920A5N1590
C920A5N1600
C920A5N1610
C920A5N1620
C920A5N1630
C920A5N1640
C920A5N1650 E
C920A5N1660 § 3/4-10UNC

it
3t

BMAORERENINLRE




S5 50 FE T2 £

DF920-A5N

& s

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

it
3t

i D I 22 £
C920A5N1670 167
C920A5N1680 16.8
C920A5N1690 16.9
C920A5N1700 17.0
C920A5N1710 17.1
C920A5N1720 17.2
C920A5N1730 17.3
C920A5N1740 17.4
C920A5N1750 17.5 M20x2.5 3/4-16UNF
C920A5N1760 17.6
C920A5N1770 17.7
C920A5N1780 178 3/4-20UNEF
C920A5N1790 179
C920A5N1800 180 M20x2
C920A5N1810 18.1
C920A5N1820 18.2
C920A5N1830 18.3
C920A5N1840 18.4
C920A5N1850 185 M20x1.5

O EEFE OFWE D | <3 | »36 =610 ~1016 =16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 = +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

EE MR

FEEMR (R B 1) W

BAOPERENINLRE




M ARTE S

DF920-A5N

& s

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJIE FRRIER

= fies
C920A5N1860

D
18.6

TIH 223

it
3t

18.7
18.8

C920A5N1890
C920A5N1900

18.9
19.0

C920A5N1910

19.1

C920A5N1920

19.2

C920A5N1930

19.3

C920A5N1940

19.4

C920A5N1950

19.5

C920A5N1960

19.6

7/8-9UNC

C920A5N1970

19.7

C920A5N1980

19.8

C920A5N1990
C920A5N2000

19.9
20.0

OirEEEF OFNE

D

<3 | >36 610 >10-16 >16

’A%(MD: +0.002 © +0.004 +0.006 : +0.007 +0.008

EE MR

i +0.012  +0.016 +0.021 & +0.025 @ +0.03

FEEMR (R B 1)

O

OES #EYHIZ%6129-G132

BMAORERENINLRE



S5 50 FE T2 £

DF920-B5N

s [ —]

LS

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJE KEIER

it
3t

e E I 22 £
C920B5N0300 ‘ :
€920B5N0310
€920B5N0320 ; 5
C920B5N0330 3 § Max0.7
SO . | T
C920B5N0350 . § M4x0.5 NO.8-36UNF
C920B5N0360 5
€920B5N0370
C920B5N0380 ,
€920B5N0390 . ; NO.10-24UNC
€920B5N0400 :
C920B5N0410 1 ; NO.10-32UNF
C920B5N0420 2 : M5x0.8
C920B5N0430 E :

C920B5N0440 , -
e - | e ——
C920B5N0460 6 ﬁ NO.12-28UNF
C920B5N0470 T ﬁ NO.12-32UNEF

e ~ NO.12-32UNEF
C920B5N0490
€920B5N0500 . M6x1
C920B5N0510 1 | 1/4-20UNC
C920B5N0520
C920B5N0530 3 M6x0.75
C920B5N0540
C920B5N0550 5 1/4-28UNF
C920B5N0560 6 1/4-32UNEF
C920B5N0570 ‘
C920B5N0580
€920B5N0590
C920B5N0600
C920B5N0610
C920B5N0620

BAOPERENINLRE




DF920-B5N

s [ —]

LS

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJE KEIER

it
3t

e E D I 22 £
C920B5N0630 6.3
C920B5N0640 6.4
C920B5N0650 6.5
C920B5N0660 6.6 | 5/16-18UNC
C920B5N0670 6.7
C920B5N0680 6.8 M8x1.25
€920B5N0690 69 5/16-24UNF
C920B5N0700 70 M8x1
€920B5N0710 71 5/16-32UNEF
C920B5N0720 72
C920B5N0730 73 M8x0.75
C920B5N0740 T4 M8x1.25
C920B5N0750 7.5
C920B5N0760 7.6
7.7
€920B5N0780 7.8
C920B5N0790 7.9
C920B5N0800 8.0 3/8-16UNC
C920B5N0810 8.1

Q@inEEFE OFE [ D | <3 | »36 =610 »1016 =16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 . +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

EE MR

FEEMR (R B 1) W

BMAORERENINLRE




S5 50 FE T2 £

DF920-B5N

s [ —]

LS

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJE KEIER

= fies
C920B5N0820

C920B5N0830

TIH 223

it
3t

C920B5N0840

C920B5N0850
C920B5N0860

C920B5N0870

M10x1.5 3/8-24UNF

C920B5N0880

3/8-32UNEF

C920B5N0890

M10x1.25

C920B5N0900

C920B5N0910

M10x1

C920B5N0920

C920B5N0930

C920B5N0940

M10x0.75

M10x1.5

C920B5N0950

7/16-14UNC

C920B5N0960
C920B5N0970

C920B5N0980

C920B5N0990

C920B5N1000
C920B5N1010
C920B5N1020
C920B5N1030
C920B5N1040
C920B5N1050
C920B5N1060
C920B5N1070
C920B5N1080
C920B5N1090
C920B5N1100
C920B5N1110
C920B5N1120
C920B5N1130
C920B5N1140

C920B5N1150

BAOPERENINLRE

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

7/16-20UNF

M12x1.75

1/2-20UNF




M ARTE S

DF920-B5N

s [ —]

LS

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJE KEIER

e E I 22 £
C920B5N1160
C920B5N1170
C920B5N1180 8 1/2-28UNEF
C920B5N1190 :

C920B5N1200 0 M14x2
€920B5N1210
C920B5N1220 2 9/16-12UNC
€920B5N1230 '
C920B5N1240 ,
C920B5N1250 5 M14x1.5
C920B5N1260 '
C920B5N1270
C920B5N1280 :
C920B5N1290 9 9/16-18UNF

Pt I O —

C920B5N1310
C920B5N1320 . 9/16-24UNEF
C920B5N1330

Q@inEEFE OFE LD | <3 »36 =610 >1016 =16

AAZ(M7) *0.002 +0.004  +0.006  +0.007  +0.008
+0.012 | +0.016  +0.021 | +0.025 = +0.03

EE MR

FEEMR (R B 1) W

BMAORERENINLRE




S5 50 FE T2 £

DF920-B5N

s [ —]

LS

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJE KEIER

i IH £ 58
C920B5N1340
C920B5N1350
C920B5N1360 . 5/8-11UNC
C920B5N1370
C920B5N1380
C920B5N1390
C920B5N1400
C920B5N1410
C920B5N1420
C920B5N1430
C920B5N1440 :
C920B5N1450 c é M16x1.5 5/8-18UNF
C920B5N1460 :
C920B5N1470 ;
C920B5N1480 . 5/8-24UNEF
Co20meL400 | Akt R
C920B5N1500 . § M16x1
C920B5N1510 :

C920B5N1520
C920B5N1530
C920B5N1540 :
C920B5N1550 . § M18x2.5
C920B5N1560 5

C920B5N1570
C920B5N1580
C920B5N1590
C920B5N1600
C920B5N1610
C920B5N1620
C920B5N1630
C920B5N1640
C920B5N1650
C920B5N1660 : ‘ 3/4-10UNC

it
3t

BAOPERENINLRE




M ARTE S

DF920-B5N

s [ —]

LS

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJE KEIER

e D TIHI 23
C920B5N1670 16.7
C920B5N1680 16.8
C920B5N1690 16.9
C920B5N1700 17.0
C920B5N1710 17.1
C920B5N1720 17.2
C920B5N1730 17.3
C920B5N1740 17.4 :
C920B5N1760 17.6 :
C920B5N1770 17.7
C920B5N1780 17.8 3/4-20UNEF
C920B5N1790 17.9
C920B5N1800 18.0 M20x2
C920B5N1810 18.1
C920B5N1820 18.2
C920B5N1830 18.3
C920B5N1840 18.4
C920B5N1850 18.5 M20x1.5

OinEEE OFE b <3 >36 5610 >1006 16

AZ(M7), +0.002 +0.004 +0.006  +0.007 | +0.008
| 40.012 +0.016 +0.021 +0.025 +0.03

it
Rt

EE MR

FEEMR (R B 1) W

BMAORERENINLRE




S5 50 FE T2 £

DF920-B5N

s [ —]

LS

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
SEOJE KEIER

it
3t

=g D LI 42 5
C920B5N1860 18.6
18.7
18.8
C920B5N1890 18.9
C920B5N1900 19.0
C920B5N1910 19.1
C920B5N1920 19.2
C920B5N1930 19.3
C920B5N1940 19.4
C920B5N1950 19.5
C920B5N1960 19.6 7/8-9UNC
C920B5N1970 19.7
C920B5N1980 19.8
C920B5N1990 19.9
C920B5N2000 20.0

OirEEEF OFNE D <3 36 610 1016 >16

’A%(MD: +0.002 © +0.004 +0.006 : +0.007 +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

EE MR

FEEMR (R B 1)

O

OES #EYHIZ%6129-G132

BAOPERENINLRE




iZEse T (o
C

L

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
EOE FHHIEE BEitETIA

it
3t

e E IHI 22 5
C920A8P0300 ‘ A
C920A8P0310
C920A8P0320 , ;
C920A8P0330 3 § M4x0.7
re . | L —
e | o MO
C920A8P0360 5
C920A8P0370

C920A8P0390
C920A8P0400 :
C920A8P0410 1 NO.10-32UNF o
prsvm— — e
C920A8P0430 ‘
C920A8P0440 -
snenpcye p TR T e
C920A8P0460 : NO.12-28UNF
C920A8P0470 1 NO.12-32UNEF -
LS E— L WG SZURER
C920A8P0490 ;
C920A8P0500 0 M6x1
C920A8P0510 N § 1/4-20UNC
C920A8P0520 j i
C920A8P0530 N § M6x0.75
C920A8P0540 : i
C920A8P0550 5 § 1/4-28UNF
C920A8P0560 6 § 1/4-32UNEF
C920A8P0570 5 5
C920A8P0580
C920A8P0590
C920A8P0600
C920A8P0610
C920A8P0620

BMAORERENINLRE




S5 50 FE T2 £

DF920-A8P

iZEse T (o
C

L

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
EOE FHHIEE BEitETIA

e
C920A8P0630
C920A8P0640
C920A8P0650
C920A8P0660
C920A8P0670
C920A8P0680
C920A8P0690
C920A8P0700
C920A8P0710
C920A8P0720
C920A8P0730
C920A8P0740
C920A8P0750
C920A8P0760

C920A8P0790

D

6.3
6.4
6.5
6.6
6.7
6.8
6.9
7.0
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8
7.9

C920A8P0800

8.0

) 140°
TiAIN o

TIHI 23

5/16-18UNC

M8x1.25
5/16-24UNF
M8x1
5/16-32UNEF

M8x0.75

M8x1.25

it
Rt

3/8-16UNC

C920A8P0810

8.1

C920A8P0820

8.2

OirEEEFE OFNE

EE I

 >36 | >6-10 >10-16

>16

/A\ﬁ(Mﬂ: +0.002 © +0.004 +0.006 ;| +0.007
{ +0.012 | +0.016  +0.021 +0.025

+0.008
+0.03

BAOPERENINLRE

N

O
O




iZEse T (o
C

L

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
EOE FHHIEE BEitETIA

= fies
C920A8P0830

C920A8P0840

C920A8P0850

C920A8P0860 6

C920A8P0870
C920A8P0880

C920A8P0890

C920A8P0900
C920A8P0910

TIH 223

140°
B

M10x1.5 3/8-24UNF

3/8-32UNEF

M10x1.25

C920A8P0920

C920A8P0930
C920A8P0940

C920A8P0950

C920A8P0960
C920A8P0970

C920A8P0980

C920A8P0990 5

C920A8P1000
C920A8P1010
C920A8P1020
C920A8P1030
C920A8P1040
C920A8P1050
C920A8P1060
C920A8P1070
C920A8P1080
C920A8P1090
C920A8P1100
C920A8P1110
C920A8P1120
C920A8P1130

C920A8P1140

C920A8P1150

M10x1

M10x0.75

7/16-14UNC

M10x1.5

7/16-20UNF

7/16-28UNEF
M12x1.75

1/2-13UNC
M12x1

M12x1.75

BMAORERENINLRE



S5 50 FE T2 £

DF920-A8P

iZEse T (o
C

L

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
EOE FHHIEE BEitETIA

e
C920A8P1160

D
11.6

C920A8P1170

11.7

C920A8P1180
C920A8P1190
C920A8P1200
C920A8P1210
C920A8P1220
C920A8P1230
C920A8P1240
C920A8P1250
C920A8P1260
C920A8P1270
C920A8P1280

11.8
11.9
12.0
12.1
12.2
12.3
12.4
12.5
12.6
12.7
12.8

. 140°
TIiAIN 'v’j

TIHI 25

i
Rt

C920A8P1290
C920A8P1300
C920A8P1310

12.9
13.0
13.1

C920A8P1320

13,2

C920A8P1330

13.3

C920A8P1340
C920A8P1350

13. 4
13.5

Ot EEEF OFMNE

1/2-28UNEF

M14x2

9/16-12UNC

M14x1.5

9/16-18UNF

M14x1

9/16-24UNEF

EE I

>16

’A§(M7): +0.002 = +0.004 +0.006 : +0.007
{ +0.012 | +0.016 +0.021 +0.025

+0.008
+0.03

BAOPERENINLRE

N

O
O




e
Sy

) 140°
TiAIN o

iZEse T (o
C

L

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
EOE FHHIEE BEitETIA

= fies
C920A8P1360

C920A8P1370
C920A8P1380

C920A8P1390

C920A8P1400

TIH 223

5/8-11UNC

it
3t

C920A8P1410

C920A8P1420

C920A8P1430

C920A8P1450

C920A8P1460

C920A8P1470

C920A8P1480

C920A8P1490

C920A8P1500
C920A8P1510

C920A8P1520
C920A8P1530
C920A8P1540
C920A8P1550
C920A8P1560
C920A8P1570
C920A8P1580
C920A8P1590
C920A8P1600
C920A8P1610
C920A8P1620
C920A8P1630

M16x1.5 5/8-18UNF

5/8-24UNEF

M16x1

C920A8P1640
C920A8P1650

C920A8P1660

M18x2.5

3/4-10UNC

BMAORERENINLRE



S5 50 FE T2 £

DF920-A8P

e
Sy

140°
B e

iZEse T (o
C

L

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
EOE FHHIEE BEitETIA

it
3t

e E D HIHI 22 5
C920A8P1670 6.7
C920A8P1680 16.8
C920A8P1690 16.9
C920A8P1700 17.0
C920A8P1710 17.1
C920A8P1720 17.2
C920A8P1730 17.3
C920A8P1740 17.4
Coronsm1res e TR L
C920A8P1760 17.6
C920A8P1770 177
C920A8P1780 17.8 3/4-20UNEF
C920A8P1790 179
C920A8P1800 18.0 M20x2
C920A8P1810 181
C920A8P1820 18.2
C920A8P1830 18.3
C920A8P1840 18.4
C920A8P1850 18.5 M20x1.5

C920A8P1870 18.7

C920A8P1880  18.8
Q@inEEFE OFWE [ 5 <3 U536 5610 51016 >16

AZ(M7) *0.002 +0.004  +0.006  +0.007 = +0.008
+0.012 +0.016 +0.021 +0.025  +0.03

EREE. REE

&S M

ORER OEE HETHISEXG129-G132

BAOPERENINLRE




st [0
C

L

-RYAZE SEDINGS3TATAERE #8718 IEDAOFUAR A
EOE FHHIEE BEitETIA

= fies

D

C920A8P1890

18.9

C920A8P1900

19.0

C920A8P1910

19.1

C920A8P1920

19.2

C920A8P1930

19.3

C920A8P1940

19.4

C920A8P1950

19.5

C920A8P1960
C920A8P1970
C920A8P1980

19.6
19.7
19.8

C920A8P1990
C920A8P2000

@I EEF

19.9
20.0

FIE

EE I

TIH 223

e
Sy

140°
R

it
3t

M20x1

7/8-9UNC

D

<3 | >36  >6-10 >10-16 >16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 | +0.008

+0.012 | +0.016 | +0.021 | +0.025 = +0.03

N

(@)

BMAORERENINLRE



S5 50 FE T2 £

DF920-A8N

@ s

0

SR SEDINGS3TARARE #7118 EDAOFUATE
SRR HEeiER

it
Rt

=i LI 42 5
C920A8N0300 ‘
C920A8N0310
C920A8N0320 :
C920A8N0330 . M4x0.7
SO | | Hm”_MNééééuﬁé,W,WHTWH”HWMUMHHWHW,W,WHY.
i | T ——
C920A8N0360 ' ‘
C920A8N0370

CORMIIED. 2 T
C920A8N0400 : :
C920A8N0410 : NO.10-32UNF

E20AINOL0 ' i ———

C920A8N0430
C920A8N0440 :
EoroAsnO? . e —————
C920A8N0460 : NO.12-28UNF

C920A8N0470 : NO.12-32UNEF

SORMNATR, B . NO.12-32uNEF
C920A8N0490
C920A8N0500 : M6x1
C920A8N0510 : 1/4-20UNC
C920A8N0520
C920A8N0530 : M6x0.75
C920A8N0540
C920A8N0550 : 1/4-28UNF
C920A8N0560 : 1/4-32UNEF
C920A8N0570
C920A8N0580
C920A8N0590
C920A8N0600
C920A8N0610
C920A8N0620

BAOPERENINLRE




M ARTE S

DF920-A8N

@ s

SR SEDINGS3TARARE #7118 EDAOFUATE

SRR HEeiER

e
C920A8N0630
C920A8N0640
C920A8N0650
C920A8N0660
C920A8N0670
C920A8N0680
C920A8N0690
C920A8N0700
C920A8N0710
C920A8N0720
C920A8N0730
C920A8N0740
C920A8N0750
C920A8N0760

C920A8NO0790

D

6.3
6.4
6.5
6.6
6.7
6.8
6.9
7.0
7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8
7.9

TIHI 23

it
Rt

5/16-18UNC

M8x1.25
5/16-24UNF
M8x1
5/16-32UNEF

M8x0.75
M8x1.25

C920A8N0800

8.0

3/8-16UNC

C920A8N0810

8.1

C920A8N0820

8.2

OirEEEF OFMNE

D <3 | >3-6  >6-10 >10-16 >16

AZ(M7), +0.002 +0.004 +0.006  +0.007 | +0.008
| 40012 +0.016 +0.021 +0.025 +0.03

&SI

FEHEME (R B 1)

©

OES #EYHIZ%6129-G132

BMAORERENINLRE



S5 50 FE T2 £

DF920-A8N

@ s

SR SEDINGS3TARARE #7118 EDAOFUATE
SRR HEeiER

= fies
C920A8N0830
C920A8N0840

C920A8N0850
C920A8N0860

TIHI 223

i
Jit

C920A8N0870
C920A8N0880

M10x1.5 3/8-24UNF

C920A8N0890

3/8-32UNEF
M10x1.25

C920A8N0900

M10x1

C920A8N0910

C920A8N0920

C920A8N0930

C920A8N0940

M10x0.75

M10x1.5

C920A8N0950
C920A8N0960

7/16-14UNC

C920A8N0970

C920A8N0980
C920A8N0990

C920A8N1000
C920A8N1010
C920A8N1020
C920A8N1030
C920A8N1040
C920A8N1050

7/16-20UNF

C920A8N1060
C920A8N1070

7/16-28UNEF
M12x1.75

C920A8N1090

C920A8N1100
C920A8N1110

C920A8N1120
C920A8N1130

C920A8N1140

M12x1.75

C920A8N1150

BAOPERENINLRE

1/2-20UNF




M ARTE S

DF920-A8N

@ s

130°
2

SR SEDINGS3TARARE #7118 EDAOFUATE
SRR HEeiER

i
3t

e D TIHI 23

C920A8N1160  11.6
C920A8N1170 11.7
C920A8N1180  11.8 1/2-28UNEF
C920A8N1190  11.9
C920A8N1200  12.0 M14x2
C920A8N1210  12.1
C920A8N1220 122 9/16-12UNC
C920A8N1230  12.3
C920A8N1240  12.4
C920A8N1250 12.5 M14x1.5
C920A8N1260 = 12.6
C920A8N1270 12.7
C920A8N1280 = 12.8
C920A8N1290 12.9 9/16-18UNF
C920A8N1300 13.0 M14x1 :
e — L.
C920A8N1320  13.2 9/16-24UNEF
C920A8N1330  13.3
C920A8N1340  13.4
C920A8N1350  13.5

OirEEEF OFMNE b <3 36 610 1016 516

’A%(MD: +0.002 © +0.004 +0.006 : +0.007 = +0.008
| 40.012 | +0.016  +0.021 +0.025  +0.03

&SI

FEHEME (R B 1)

©

OEE HEIHISH%%G129-G132

BMAORERENINLRE




S5 50 FE T2 £

DF920-A8N

@ s

SR SEDINGS3TARARE #7118 EDAOFUATE
SRR HEeiER

e E HIHI 22 5
C920A8N1360 5/8-11UNC
C920A8N1370 E
C920A8N1380
C920A8N1390
C920A8N1400
C920A8N1410
C920A8N1420
C920A8N1430

Tt
3t

CoronsNL40 § e ——
C920A8N1460 ‘

C920A8N1470 ;
C920A8N1480 ; § 5/8-24UNEF
C920A8N1490 ' i

C920A8N1500 : § M16x1
C920A8N1510 i ‘
C920A8N1520
C920A8N1530
C920A8N1540 ; :
C920A8N1550 : § M18x2.5
C920A8N1560 5 5

C920A8N1570
C920A8N1580
C920A8N1590
C920A8N1600
C920A8N1610
C920A8N1620
C920A8N1630
C920A8N1640
C920A8N1650 :
C920A8N1660 § 3/4-10UNC

BAOPERENINLRE




M ARTE S

DF920-A8N

@ s

130°

B
SR SEDINGS3TARARE #7118 EDAOFUATE
SRR HEeiER

it
3t

e E D HIHI 22 5
C920A8N1670 6.7
C920A8N1680 16.8
C920A8N1690 16.9
C920A8N1700 17.0
C920A8N1710 17.1
C920A8N1720 17.2
C920A8N1730 17.3
C920A8N1740 17.4
Coronanired e TR L
C920A8N1760 17.6
C920A8N1770 177
C920A8N1780 17.8 3/4-20UNEF
C920A8N1790 179
C920A8N1800 18.0 M20x2
C920A8N1810 181
C920A8N1820 18.2
C920A8N1830 18.3
C920A8N1840 18.4
C920A8N1850 18.5 M20x1.5

C920A8N1870 18.7

(C920A8N1880  18.8
Q@inEEFE OFE [ 5 <3 U536 5610 51016 16

AAZ(M7) *0.002 +0.004  +0.006  +0.007  +0.008
+0.012 | +0.016  +0.021 | +0.025 = +0.03

EE I

FEEHEMR (R B 1)

ORESR OEBE HEIHISEXG129-G132

BMAORERENINLRE




S5 50 FE T2 £

DF920-A8N

@ s

SR SEDINGS3TARARE #7118 EDAOFUATE
SRR HEeiER

=i D TIH 245
C920A8N1890 18.9
C920A8N1900 19.0 M20x1
C920A8N1910 19.1
C920A8N1920 19.2
C920A8N1930 19.3
C920A8N1940 19.4
C920A8N1950 19.5
C920A8N1960 19.6 7/8-9UNC
C920A8N1970 19.7
C920A8N1980 19.8
C920A8N1990 19.9
C920A8N2000 20.0

it
3t

Q@inEEFE OFE [ D | <3 | »36 =610 »1016 =16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 | +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

EEMIAE

FESHME(E. B

OES #EYHIZ%6129-G132

BAOPERENINLRE




EE8MRFLEE

DF920-A12P
& s BD

] 135°
12XD TAIN o

-R#E0 £EDINGS3TIRAERE #7JEIEDAOFULRE
SEORE HER BEMETIR

= @B

C920A12P0300

lw)

C920A12P0350
C920A12P0400

pIEIEER::4 Bt

i
Ft

C920A12P0450

M5x0.5 N0.12-24UNC

_CI20A12P0500

C920A12P0550
C920A12P0600

M6x1

1/4-28UNF

C920A12P0650

C920A12P0700

C920A12P0750

M8x1

C920A12P0800

C920A12P0850

C920A12P0900
C920A12P0950

3.
3
4
4
5

5.
6
6
7
7
8
8
9
9.

3/8-16UNC

M10x1.53/8-24UNF

C920A12P1000

-
<

M10x1 :

C920A12P1050
C920A12P1100

=
= o

C920A12P1150

-
=

C920A12P1200

-
N

”W”Miixiﬂuw”m,WHWM_MH”HWM_MHHWHW,M S

1/2-20UNF

M14x2

C920A12P1250

-
b

C920A12P1300

—
w

C920A12P1350

-
@

C920A12P1400

—
»

M14x1.5

M14x1

M16x2

C920A12P1450

=
5=

C920A12P1500

—
o

C920A12P1550

-
&

C920A12P1600

—
@

M16x1.55/8-18UNF

M16x1

M18x2.5

M18x2

C920A12P1650

-
o

C920A12P1700

—
o

C920A12P1750
C920A12P1800
C920A12P1850

== e
B °° B

M18x1

..C920A12P1900 .

C920A12P1950

=
© ©

C920A12P2000

)
<

M20x2.5 3/4-16UNF
M20x2
M20x1.5

M20x1 §

M22x2




DF920-A12N

@s

-RI W £EDINGS3TARERIE #E7IEIEDAOFUITE

SELRR HeHER

e
C920A12N0300

|w)

130°
12XD '%

pILCIEER::S BriEsask

it
Rt

C920A12N0350

C920A12N0400

C920A12N0450

C920A12N0500

C920A12N0550
C920A12N0600

M5x0.5 N0.12-24UNC

M6x1

1/4-28UNF

C920A12N0650

C920A12N0700
C920A12N0750

M8x1 g

C920A12N0800

C920A12N0850
C920A12N0900

3/8-16UNC

‘M10x1

M10x1.5 3/8-24UNF

C920A12N0950

© © PP NNODOL U AW W

C920A12N1000
C920A12N1050

=
e e

C920A12N1100

CI20A12NLIS0 -

C920A12N1200
C920A12N1250
C920A12N1300
C920A12N1350
C920A12N1400
C920A12N1450
C920A12N1500
C920A12N1550
C920A12N1600
C920A12N1650
C920A12N1700
C920A12N1750
C920A12N1800
C920A12N1850
C920A12N1900

o el el e B o T e e i e S
Wi o NN iR RW WINDNER

M12x1 ,
1/2-20UNF
T i
M14x1.5
M14x1

M16x2
M16x1.55/8-18UNF
M16x1
M18x2.5
M18x2

M18x1
M20x2.5 3/4-16UNF
M20x2
M20x1.5

e

C920A12N1950

-
«

C920A12N2000

N
<

M22x2

BAOPERENINLRE




& s

TIiAIN

0

SR SEDINGS3TARARE #7118 EDAOFUATE
SELTIR BHEE BEitETIA

i
C920A15P0300
C920A15P0350
C920A15P0400
C920A15P0450
C920A15P0500
C920A15P0550
C920A15P0600

C920A15P0650

lw)

TIH 223

i

M5x0.5 N0.12-24UNC

M6x1
1/4-28UNF

M8x1
CO0AIPPOTES ooMe
C920A15P0800
C920A15P0850
C920A15P0900
C920A15P0950
C920A15P1000
C920A15P1050
C920A15P1100
 C920A15P1150
| C920A15P1200
C920A15P1250
C920A15P1300
C920A15P1350
C920A15P1400
C920A15P1450
C920A15P1500

3/8-16UNC
M10x1.53/8-24UNF
M10x1

© 0 ®E NN O LA AW W

—
o

-
=)

-
=

M12x1
1/2-20UNF
e —
M14x1.5
M14x1

=
N

= e e
> w ow N

M16x2
M16x1.55/8-18UNF
M16x1

._.
e
0 0000000000000 00000 00000

313 16

—
o

&5 I TA7#

AW

BMAORERENINLRE




& s

DF920-A15N

SR SEDINGS3TARARE #7118 EDAOFUATE

SEDSI5R M REE

Pl
C920A15N0300

lw)

C920A15N0350

130°
15XD "’j

TIH 223

B &

i

C920A15N0400

C920A15N0450

C920A15N0550
C920A15N0600

C920A15N0500

M5x0.5 N0.12-24UNC

M6x1

1/4-28UNF

C920A15N0650

C920A15N0750

C920A15N0800

M8x1

3/8-16UNC

C920A15N0850
C920A15N0900

M10x1.53/8-24UNF

‘M10x1

C920A15N0950

© 0 ®E NN OL A AW W

C920A15N1000
C920A15N1050

= =
ISl

C920A15N1100

| CO20AISN1ISO

C920A15N1200
C920A15N1250
C920A15N1300
C920A15N1350
C920A15N1400
C920A15N1450
C920A15N1500

=
N

-
=

e =
o AW w N

M12x1

1/2-20UNF

‘M14x2
M14x1.5
M14x1

M16x2
M16x1.55/8-18UNF
M16x1

&SI I

FEHMEL (R B, )

ORiEE OFEA HEYEISHXG129-G132
BN AR ERENTRNARE

W



@ s

-RH2 BEDINGSITI SIS MIJEEDAOFUR &
BNEE BUNE BHEY RBSMEna

= mfiEg
C920A20P0300
C920A20P0350
C920A20P0400
C920A20P0450
C920A20P0500
C920A20P0550
C920A20P0600

C920A20P0650

|w)

TIHI 23

it
Rt

M4x0.5 N0.8-36UNF

M5x0.5 N0.12-24UNF

M6x1

M8x1
C520A20P0750
C920A20P0800
C920A20P0850
C920A20P0900
C920A20P0950
C920A20P1000

3/8-16UNC

M10x1

© © PP NNOOOUU AW W

—
<
o

O@inEEE OFE b <3 36 610 >1006 16

AZE(M7), +0.002 +0.004 +0.006  +0.007 | +0.008
| 40,012 +0.016 +0.021 +0.025 +0.03

EE I

AW

O

BMAORERENINLRE




DF920-A20N

& s

SR SEDINGS3TARARE #7118 EDAOFUATE
SEDSI5R M REE

e
C920A20N0300
C920A20N0350
C920A20N0400
C920A20N0450
C920A20N0500
C920A20N0550
C920A20N0600

C920A20N0650

|w)

TIHI 23

it
Rt

M4x0.5 N0.8-36UNF

M5x0.5 NO.12-24UNF
M6x1 :
1/4-28UNF

M8x1
C520A20N0750 N SN
C920A20N0800
C920A20N0850
C920A20N0900
C920A20N0950
C920A20N1000

Q@inEEF OFE [ D | <3 »36 610 »1016 16

AAZ(M7) *0.002 +0.004  +0.006  +0.007 . +0.008
+0.012 | +0.016 +0.021  +0.025 +0.03

3/8-16UNC

M10x1

© © PP NNODOL U AR W W

—
<
o

EE I

FERMR (R, B, 1)

©

OES #EYHIZ%6129-G132

BAOPERENINLRE




& s

A

) 135°
25XD TiAIN %

-RZE S EDINGS3TIRERE 1 VIEIEDAOFUT A
SRR HHIER BEtgNA

i
C920A25P0300
C920A25P0350
C920A25P0400
C920A25P0450
C920A25P0500
C920A25P0550
C920A25P0600

C920A25P0650

lw)

TIH 223

M4x0.5 N0.8-36UNF

M5x0.5 N0.12-24UNF
M6x1
1/4-28UNF

M8x1

C920A25P0750
C920A25P0800
C920A25P0850
C920A25P0900
C920A25P0950
C920A25P1000

3/8-16UNC
M10x1.53/8-24UNF

M10x1

© 0 ®E NN O LA AW W
o U o o o o o o u o

—
o

.7|t/]_'\>&§§ ﬁﬁ'%%mfé ' D ; <3 >3-6 v>6-10 7>10-16 >16

AZE(M7) +0.002 +0.004  +0.006 | +0.007 . +0.008
+0.012 +0.016 +0.021  +0.025  +0.03

EE IR

w

BMAORERENINLRE




DF920-A25N

& s

SR SEDINGS3TARARE #7118 EDAOFUATE
SEDSI5R M REE

e E
C920A25N0300
C920A25N0350
C920A25N0400
C920A25N0450
C920A25N0500
C920A25N0550
C920A25N0600

C920A25N0650

lw)

TIH 223

M4x0.5 N0.8-36UNF

M5x0.5 N0.12-24UNF
M6x1
1/4-28UNF

M8x1

k C920A25N0750
C920A25N0800
C920A25N0850
C920A25N0900
C920A25N0950
C920A25N1000

OinEEE OFE b <3 >36 610 >1006 16

AZE(M7), +0.002 +0.004 +0.006  +0.007 | +0.008
| 40,012 +0.016 +0.021 +0.025 +0.03

3/8-16UNC
M10x1.53/8-24UNF

M10x1

© 0 ®E NN O LA AW W
o U o o o o o o u o

—
o

EE IR

MR (R B, 1)

OES #EYHIZ%6129-G132

BAOPERENINLRE




& s

] 135°
30xD TiAIN o>

-R 220 ZEDINGS3TARERE #7IHEIEDAOFUIT
SRR HHIER BEtgnA

e
C920A30P0300

|w)

TIHI 23

M4x0.5 N0.8-36UNF

i
at

C920A30P0350

C920A30P0400 M5x0.5 N0.12-24UNF

C920A30P0450
C920A30P0500

| C920A30P0550
C920A30P0600

M6x1
1/4-28UNF :

C920A30P0650 M8x1

C920A30P0700
C920A30P0750

3/8-16UNC

© NN U O AW
o U1 o U O Uulo Ul o iwm ©

C920A30P0800

O@inEEE OFE b <3 »36 610 >1016

>16

’A%(MU: +0.002 = +0.004 +0.006 : +0.007
{ +0.012 | +0.016  +0.021 +0.025

EE NI

+0.008
+0.03

%3 Rk

© ©) ©)

BMAORERENINLRE




DF920-A30N

& s

SR SEDINGS3TARARE #7118 EDAOFUATE
SEDSI5R M REE

e

|w)

C920A30N0300

130°
2

TIHI 23

M4x0.5 N0.8-36UNF

it
Rt

C920A30N0350
C920A30N0400

M5x0.5 N0.12-24UNF

C920A30N0450
C920A30N0500

C920A30N0550
C920A30N0600

M6x1

1/4-28UNF :

C920A30N0650
C920A30N0700

M8x1

C920A30N0750
C920A30N0800

©® NN U A s W W
o U1l oiU OoOlUtTio Lo, ©

OirEEEF OFNE

3/8-16UNC

D

<3

 >36 | >6-10 >10-16

>16

NE(MT) +0.002 :
+0.012 | +0.016 | +0.021 | +0.025

=) IS

+0.004 = +0.006 | +0.007

+0.008
+0.03

FEHME (R B )

OES #EYHIZ%6129-G132

BAOPERENINLRE




EFRISH

3xD

TYPE

7}

7

4]

RN RT
A3P

SRR RT

B3P

AR FENERT

A3S

INRARFMNGERT

B3S

RALEBEZRAT
A3N

R BEBERRT
B3N

YIHERE Cctting speed Ve[m/min]& #4518 (I BABEIBEEHLETIHR GL21)

#EHRB

#aARB

Ve

H#ERE [ Ve

#ARE [ Ve

H#ERB

Ve |#ARE|[ Ve

100

90

80

70

15,1 N IR] [\ [

O|o|m|m|m

o|o|m|m|m

65

o|o|m|m|m

60

50

40

hal Fad d o

0 (@0 OO

o (@O0

30

0 (@O0

60

20

20

20

120

ol lwlwolof= =
N N[ [N =[N [

mad mal el il mal sl (o) ()

md il ad md il [0 (9}

nad il bl il () [9)

[ e e L Ll [
| |[B[W|N =

T|T|T|O(O®

(2l mal mall (Y il s

L e il g el e g
o[~ | |n [wlro =

w|w

BMAORERENINLRE




EFHISH

5xD TYPE

/4 /1 /1

AL MRS SNAMERT | RATRERNERT IS TFENERT | ARERERAT (IR EEERRT
A5P B5P A5S B5S A5N B5N

YIHERE Cctting speed Ve[m/min]& #4518 (I BABEIBEEHLETIHR GL21)

#ERE | Ve |#ARE| Ve [#ARE[ Vo |[#EERB| Ve |[#aAB[ Vo |[BERB| Ve |#ARD

| |wlrol-
O|o|m|m|m
o|o|m|m|m

ha el Fd ol
o] (e=1iaY o)
o [w|o [

ol lwlwolof= =

M= o= oo [
ad il bl mal al (o) ()

[ e e L Ll [
| |[B[W|N =

L e il g el e g
o[~ | |n [wlro =

w|w

MO ERENINARE




HFRISH

8xD

12xD

15xD

TYPE

V4]

/i

71

1

/1

n

PR MRS
A8P

RREBEERAT
A8N

PR R T
Al12P

RLEEERAT
A12N

RS R
Al5P

HLeBEEERART
A15N

YIHERE Cctting speed Ve[m/min]& #4518 (I BABEIBEEHLETIHR GL21)

#EHRB

#ARE [ Ve

#ERB

Ve

#ARE [ Ve

H#ERB

Ve |i#

SRIB| Ve | #ARE

15,1 N IR] [\ [

O|o|m|m|m

o|o|m|m|m

o|o|m|m|m

hal Fad d o

0 (@0 OO

o (@O0

@ [ |O|O

o (@ O[O O|o|m|m|m

oo (@O0 O|go|m|m|m

ol lwlwolof= =
N N[ [N =[N [

mad mal el il mal sl (o) ()

md il ad md il [0 (9}

add pd ad il 9 9}

wad mal el il mal sl (o) ()

nad il bl il () [9)

[ e e L Ll [
| |[B[W|N =

mulu ol uuf (] (] (3}

mmmiomm

L e il g el e g
o[~ | |n [wlro =

w|w

BMAORERENINLRE




EFRISH

20xD

25xD

30xD

TYPE

AL MRS
A20P

RRLEBEERAT
A20N

RIL MR T
A25P

RLEEERAT

A25N

RS 25
A30P

HeBEBRERART

A30N

YIHERE Cctting speed Ve[m/min]& #4518 (I BABEIBEEHLETIHR GL21)

#ERE | Ve |#ARE| Ve [#ARE[ Vo |[#EERB| Ve |[#aAB[ Vo |[BERB| Ve |#ARD

O|o|m|m|m
o|o|m|m|m
o|o|m|m|m

15,1 N IR] [\ [

o (@O (O O|o|m|m|m

ha el Fd ol
o] (e=1iaY o)
o [m|o (o
oo [w|o [

ol lwlwolof= =

M= o= oo [
add pd ad il 9 9}
add pd ad et ad ) (9}

I ol b o e
DB (W[N]
s uuf (@ (0] )

mmmomm

L e il g el e g
o[~ | |n [wlro =

w|w

MO ERENINARE




RAZH

PR HER
R REA =yl

WERIRNERER. ERLERTARSLAESD

AR FEORS I R A ARG A, B AT/ 20

i ~. lm'ﬂ-‘y ‘_‘LE Y Am'-‘-"
8T oM B THB WRIHRERE, FRENKNREN

i

FRERARY WEWKEE, HBILRE. RNRR, URIHMH

M BARIIMIRE, REAE

KERXRFHEE. EARERLASHEERE

7] MR

PILIESES FRRHAR, RETHIRE

*AE'I7£|]E§B'J/|§.|/%|%IH T_W/?%lR—Fj*E;/Afﬂ’_ﬁ
ESNAER T EARSAFIEEHMUE, MMRMEITISA

L Cas HIHRER=20-30%

WERFFHEENAEERBER
ERARELHSHEERLRE

PIEIRALTES WETHZH, EURBER T RSIHIEE

REBESHTEIRG

ERNERBEER

RRLTIRRY RIEIES G RAERN Y ST RSSO RS

BMAORERENINLRE




RAZEH

IR A

HIRBIEI2xDH, AL EBBETN. MSXDIERE, KRB BH AN,
XFING, BRTNERERLANIDREN, MEINSHEEHIERSN.
MATEE, = MRMERZEE AL

ERSEN IS YRS EN 4R

BEF
Better

N

N\
/4

KEMT

SHRBATHR
C D

BAOPERENINLRE




oroes NP EREZEMIN LR

FENXRBINEARAH

ik TREREMRKTESEBNEN T XN T IE Cik
F3i%: 0769-81586669 f£H:0769-81586869
E-mail: sales@dao-fu.com  RJit: www.dao-fu.com

IBNREBIRFARAHE

ik S THE B UM EREA R EIK699S
E31%: 0512-36856686 {£E: 051236856696
E-mail: sales:@dao-fu.com I3k www.dao-fu.com




	01 企业简介
	02 刀父标记说明
	03 刀父涂层种类
	04 刀具编写规则
	05 章结目录
	06 加工案例
	07 产品选型
	08 3倍径钢用内冷钻
	09 3倍径内冷钻
	10 3倍径钛、高温合金内冷钻
	11 3倍径钛、高温合金钻头
	12 3倍径铝铜内冷钻
	13 3倍径铝铜钻头
	14 5倍径钢用内冷钻
	15 5倍径钢用钻头
	16 5倍径钛、高温合金内冷钻
	17 5倍径钛、高温合金钻头
	18 5倍径铝铜内冷钻
	19 5倍径铝铜钻头
	20 8倍径钢用内冷钻
	21 8倍径铝铜内冷钻
	22 12倍径钢用内冷深孔钻
	23 12倍径铝铜内冷深孔钻
	24 15倍径钢用内冷深孔钻
	25 15倍径铝铜内冷深孔钻
	26 20倍径钢用内冷深孔钻
	27 20倍径铝铜内冷深孔钻
	28 25倍径钢用内冷深孔钻
	29 25倍径铝铜内冷深孔钻
	30 30倍径钢用内冷深孔钻
	31 30倍径铝铜内冷深孔钻
	32 推荐切削参数
	33 技术支持
	34 联络方式



